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Preface

The main aim of this book is to describe the UK taxation system in sufficient depth and
with sufficient clarity to meet the needs of those undertaking a first course of study in
taxation. The book has not been written with any specific syllabus in mind but should be
useful to anyone who is studying taxation as part of a university or college course in
accounting, finance or business studies. The book should also be of value to students who
are preparing for the taxation examinations of the professional accounting bodies. A list of
relevant examinations is given on the back cover of the book.

Every effort has been made to explain the tax system as clearly as possible. There are
numerous worked examples and each chapter (except Chapter 1) concludes with a set of
exercises which thoroughly test the reader's grasp of the new topics introduced in that
chapter. The book also contains four sets of review questions, drawn mainly from the past
examination papers of the professional accounting bodies. The solutions to most of these
exercises and questions are located at the back of the book but solutions to those exercises
and questions marked with an asterisk (*) are provided in a separate Instructor's Manual.

This twenty-fifth edition is up-to-date in accordance with the provisions of Finance Act
2019, which is based upon the October 2018 Budget proposals.

Alan Melville
May 2019
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Capital Gains Tax

2019-20

2018-19

Standard ratet
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Xiii
SummaryofTaxData
Corporation Tax
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FY2019

FY2018

FY2017
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Main rate

19%

19%

19%

20%

Patent box (effective rate)
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10%
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10%

R&D SMEs payable credit

14.5%

14.5%

14.5%

14.5%

R&D expenditure creditt

12%

12%

1%

1%

T R&D expenditure credit 12% as from 1 January 2018
Note:

The main rate for FY2020 will be 17%.
Inheritance Tax

Date of transfer
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Rate

Lower

band

time transfers

on death

rate
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0 - £285,000

20%

40%
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Value Added Tax
Standard rate
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Reduced rate

5%

Registration thresholdt
£85,000 (from 1 April 2017)



Deregistration thresholdt
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Chapter 1

Introduction to the UK tax
system

Introduction

The purpose of this first chapter is to provide an overview of the UK tax system. The
principal UK taxes are introduced and classified and the main sources of taxation law are
explained. This chapter also deals with:

(a) the structure and functions of Her Majesty's Revenue and Customs (HMRC) which is
the organisation responsible for the administration of the UK tax system

(b) the annual procedure which is used to determine the tax liability of an individual.

The chapter concludes by distinguishing between tax avoidance and tax evasion.

UK taxes

The UK taxation system is composed of a number of different taxes, some of which are
direct taxes and some of which are indirect taxes:

(a) Direct taxes are charged on income, profits or other gains and are either deducted at
source or paid directly to the tax authorities. The main direct taxes which are payable
by individuals are income tax, capital gains tax and inheritance tax. The main direct
tax payable by companies is corporation tax. All of these taxes are administered by
HM Revenue and Customs (HMRC), which was formed in April 2005 when the
Inland Revenue and HM Customs and Excise were merged. National Insurance
contributions, which can also be looked upon as a form of direct taxation, are
administered by the NICs and Employer Office of HMRC.

(b) Indirect taxes are taxes on spending. They are charged when a taxpayer buys an item
and are paid to the vendor as part of the purchase price of the item. It is then the
vendor's duty to pass the tax on to the tax authorities. Indirect taxes include value
added tax (VAT), stamp duty, customs duties and the excise duties levied on alcohol,
tobacco and petrol. The only indirect tax considered in this book is VAT, which is
also administered by HM Revenue and Customs.
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Sources of tax law

There is no single source of UK tax law. The basic rules are laid down
in Acts of Parliament but it is left to the courts to interpret these Acts
and to provide much of the detail of the tax system. In addition,
HMRC issues a variety of statements, notices and leaflets which
explain how the law is implemented in practice. These statements
have no legal backing but they explain the tax authorities'
interpretation of the law and will be adhered to unless successfully
challenged in the courts.

Statute law

The basic rules of the UK tax system are embodied in a number of
tax statutes or Acts of Parliament. The main statutes currently in force
for each tax are as follows: Tax

Statute

Abbreviation

Income tax

Capital Allowances Act 2001

CAA 2001

Income Tax (Earnings and Pensions) Act 2003
ITEPA 2003

Income Tax (Trading and Other Income) Act 2005
ITTOIA 2005

Income Tax Act 2007

ITA 2007



National Insurance

Social Security Contributions and Benefits Act 1992
SSCBA 1992

Capital gains tax

Taxation of Chargeable Gains Act 1992
TCGA 1992

Inheritance tax

Inheritance Tax Act 1984

IHTA 1984

Corporation tax

Taxation of Chargeable Gains Act 1992
TCGA 1992

Capital Allowances Act 2001

CAA 2001

Corporation Tax Act 2009

CTA 2009

Corporation Tax Act 2010

CTA 2010

Overseas aspects of tax Taxation (International and Other Provisions)
Act 2010

TIOPA 2010



Value added tax

Value Added Tax Act 1994
VATA 1994

Administration of }

Taxes Management Act 1970
TMA 1970

the tax system

}

Customs and Excise Management Act 1979
CEMA 1979

These statutes are amended each year by the annual Finance Act,
which is based upon the Budget proposals put forward by the
Chancellor of the Exchequer. Some of the tax statutes provide for the
making of detailed regulations by statutory instrument. A statutory
instrument (Sl) is a document which is laid before Parliament and (in
most cases) automatically becomes law within a stated period unless
any objections are raised to it.

European Union law

Membership of the European Union (EU) involves adherence to EU
lawt. Member states are not required to adopt a common system of
taxation but some parts of the UK system are nonetheless influenced
by EU requirements. At present, the main impact is on VAT, where the
prevailing legislation takes the form of EU Directives. These are
binding on the UK and dictate the results which the internal legislation
of the UK must bring about.

4



CHAPTER1:IntroductiontotheUKTaxSystem
Additionally, EU "State aid" approval must sometimes be sought for
amendments to UK

tax-advantaged schemes such as the Enterprise Investment Scheme
(see Chapter 6) or the R&D tax credits scheme (see Chapter 23).
Furthermore, decisions made in the European courts may trigger
changes to UK tax law, as occurred in relation to the tax treatment of
the losses of overseas subsidiary companies (see Chapter 32).

T In view of the fact that the UK has stated its intention of leaving the
EU, it would seem that EU

influence over the UK tax system will diminish over time.
Case law

Over the years, taxpayers and the tax authorities have frequently
disagreed over the interpretation of the tax Acts. As a result, many
thousands of tax cases have been brought before the courts. The
decisions made by judges in these cases form an important part of
the tax law of the UK and some of the more significant cases are
referred to in this book.

Statements made by the tax authorities

The main statements and other documents produced by HM
Revenue and Customs as a guide to the law on taxation are as
follows:

(a) Statements of Practice. A Statement of Practice (SP) sets out
the HMRC interpretation of tax legislation and clarifies the way in
which the law will be applied in practice. For example, SP 4/97 (the
fourth SP issued in 1997) deals with the taxation treatment of
commissions, cashbacks and discounts.

(b) Extra-Statutory Concessions. An Extra-Statutory Concession
(ESC) consists of a relaxation which gives taxpayers a reduction in
liability to which they are not entitled under the strict letter of the law.



In general, concessions are made so as to resolve anomalies or
relieve hardship. For example, ESC A91 deals with the taxation
treatment of living accommodation provided by reason of
employment.

A process of giving statutory effect to certain ESCs is currently
underway. This is generally being done by means of statutory
instruments.

(c) Announcements. Announcements (and other notices and
documents) are issued by HMRC throughout the year on a wide
variety of tax-related subjects. Of especial interest are the documents
which are issued on Budget day and which provide a detailed
explanation of the Budget proposals.

(d) Internal Guidance Manuals. HMRC produces a comprehensive
set of internal tax manuals for the guidance of its own officers. These
manuals may be accessed on the HMRC website (see below).

(e) Explanatory publications. Leaflets, factsheets and booklets are
aimed at the general public and explain the tax system in non-
technical language. These can usually be accessed online, though
some are still available in printed form.

Most of the above information is now available on the HMRC website,
the address of which is www.gov.uk/government/organisations/hm-
revenue-customs.
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tax year

The changes to the tax system that are proposed in the annual
Budget speech are usually intended to take effect as from the start of
the next tax year. Tax years for individuals and for companies are
identified as follows:


http://www.gov.uk/government/organisations/hm-revenue-customs

(a) For individuals, a tax year runs from 6 April to the following 5 April.
For instance, tax year 2018-19 began on 6 April 2018 and ended on 5
April 2019. Tax years are also referred to as fiscal years or years of
assessment.

(b) For companies, a corporation tax financial year runs from 1 April
to the following 31

March and is identified by the year in which it begins. For instance,
the financial year referred to as FY2018 began on 1 April 2018 and
ended on 31 March 2019.

This book takes into account the provisions of Finance Act 2019
(which is based on the October 2018 Budgett) and describes the UK
taxation system for fiscal year 2019-20 and corporation tax financial
year FY2019.

T In 2016, the Government announced its intention of moving back
the annual Budget from March (its traditional slot in the legislative
timetable) to Autumn of the previous year. The 2018 Autumn Budget
took place on 29 October 2018 and set out the Government's tax
proposals for the forthcoming tax year. Finance Act 2019 (which
implemented these proposals) was granted Royal Assent on 12
February 2019. Future Budgets are expected to adhere to a similar
schedule.

Structure of HM Revenue and Customs

Her Majesty's Revenue and Customs (HMRC) consists of a large
body of civil servants headed by the Commissioners for Revenue and
Customs. The Commissioners are appointed by Her Majesty The
Queen in accordance with recommendations made by the Treasury.
This Government department has overall responsibility for the public
finances of the UK and is managed by the Chancellor of the
Exchequer. The main duties of the Commissioners for Revenue and
Customs are as follows:



(a) to implement the law relating to direct and indirect taxation (b) to
provide advice to the Chancellor of the Exchequer on taxation
matters (c) to administer the divisions and offices into which HMRC is
organised.

The routine work of HMRC is carried out by officials known as
Officers of Revenue and Customs. With regard to direct taxation, the
main function of these officials is generally to check a taxpayer's own
self-assessment of the tax liability (see below) and then to ensure
that the correct amount of tax is paid. The functions of HMRC with
regard to indirect taxation (and VAT in particular) are explained later
in this book (see Chapter 30).
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HMRC has specialist offices which deal with such matters as pension
schemes, charities and so forth but most of the day-to-day work
relating to direct taxation takes place in local area offices. These
offices are responsible for routine assessment and collection and for
ensuring that taxpayers comply with tax regulations. Until recently,
HMRC had 170 local offices but these are to be consolidated into 13
regional centres by 2022.

Support for taxpayers who need help with their tax affairs is provided
by means of specialist expert advice either given over the telephone
or delivered by mobile advisors at convenient locations in the
community or at a taxpayer's home or workplace.

Administration of the tax system

The remainder of this chapter describes the administration system
which is used to assess an individual's liability to income tax and
capital gains tax in each tax year. This system is known as "Self
Assessment”. Under this system, the taxpayer ( not HMRC) is
primarily responsible for ensuring that:



(a) the tax liability for each tax year is properly assessed, and (b) the
correct amount of tax is paid on the due date or dates.

Later chapters of this book explain the administration systems which
are used for the purposes of corporation tax, inheritance tax and VAT.

Self Assessment

If an individual's tax liability for a tax year cannot be collected entirely
by deduction at source (see Chapter 2) or via the PAYE system (see
Chapter 7), then the liability must be formally assessed. The starting
point in the assessment process is usually the completion of a self
assessment tax returntt. The annual procedure is as follows: (a) At
the end of every tax year, a statutory "notice to file" is normally issued
to each taxpayer who is required to submit a self assessment tax
return. Such a notice requires that a return is made and delivered to
HMRC either on paper or electronically (see below). Paper return
forms are sent to those taxpayers who are likely to need them and
these can also be downloaded and printed from the HMRC website.
Voluntary returns (i.e. returns submitted without a notice to file) are
accepted and valid.

T In certain circumstances, HMRC is empowered to make an
assessment of an individual’s income tax or capital gains tax liability
without that person being first required to complete a tax return.

This "simple assessment” procedure may be used in straightforward
cases where HMRC already has sufficient information about the
individual to make the assessment.

T The Government intends to replace tax returns with online "digital
tax accounts” as part of the

"Making Tax Digital" project (see later in this chapter).
7
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The main paper tax return consists of a basic eight-page form. There



are also several sets of supplementary pages, each dealing with a
different type of income or gains (e.g. income from self-employment).
Taxpayers are required to complete only those supplementary pages
that are relevant to their circumstances.

(c) A short tax return (STR) is available for taxpayers with less
complex tax affairs.

(d) Rather than completing a paper tax return, taxpayers can file
returns electronically by means of the internet and are encouraged to
do so. Nearly 94% of self assessment tax returns for tax year 2017-
18 were in fact filed electronically.

(e) The information requested in a tax return relates to the tax year
just ended. For example, the tax returns issued in April 2019 required
taxpayers to declare their income and gains for tax year 2018-19.

(f) A tax return must be completed in full. It is not permissible to omit
figures or to make entries such as "see accounts" or "as submitted by
employer". Unless asked to submit accounts or other supporting
documentation with the return, a taxpayer is under no obligation to do
so. However, it is necessary to retain all supporting documentation in
case HMRC enquires into the accuracy of a return.

(g) If a main tax return is submitted on paper, the taxpayer has the
option of calculating his or her own tax liability (using "tax calculation
summary" pages) and submitting this calculation to HMRC as part of
the return. HMRC will calculate the tax liability for taxpayers who do
not take up this option or for those who submit the short tax return
(which does not include a self-calculation facility). However, if a paper
return is submitted late (see below), HMRC does not guarantee to
advise the taxpayer of the liability in time for the correct amount of tax
to be paid on the correct date.

If a tax return is filed electronically, the tax liability is calculated by
computer software. In all cases, the resulting assessment is referred
to as a "self-assessment".



(h) Self assessment tax returns must normally be filed (i.e. submitted
to HMRC) on or before the following dates:

- for paper returns, 31 October following the end of the tax year

- for returns filed electronically, 31 January following the end of the
tax year.

However, if the return notice is issued after 31 July following the end
of the tax year (but not after 31 October) the taxpayer has three
months from the date of the notice to submit a paper return. The
deadline for electronic filing in such a case remains at 31

January. If the notice is issued after 31 October, the taxpayer has
three months from the date of the notice to submit the return either on
paper or electronically.

(i) Penalties are imposed if a return is filed late. Furthermore, the
submission of a late return may mean that the tax liability for the year
is not determined until after the due date of payment (see below). A
taxpayer who pays tax late will incur interest and may also incur a
late-payment penalty (see Chapter 15).
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The 31 January which follows the end of a tax year is known as the
"filing date" for that year. For example, the filing date for tax year
2019-20 is normally 31 January 2021. However, if a return notice is
issued after 31 October, the filing date becomes the date which falls
three months after the issue date of the notice.

(k) HMRC is empowered to correct a tax return (so as to rectify
obvious errors or omissions or anything else that is believed to be
incorrect) within nine months of the date on which the return is filed.
Similarly, the taxpayer has the right to amend his or her tax return
within 12 months of the filing date for that return.



() A taxpayer who has paid an amount of tax but now believes that
this tax should not have been paid (a situation that could be caused
by an error in a tax return) may make a claim for recovery of the
overpaid tax. Such a claim must be made within four years of the end
of the tax year to which it relates. Depending upon the circumstances
of the case, HMRC may or may not accept the claim.

(m) The tax due in relation to a self-assessment is normally payable
as follows: (i) A first payment on account (POA) is due on 31 January
in the tax year to which the self-assessment relates.

(i) A second POA is due on the following 31 July.
(iif) A final balancing payment is due on the following 31 January.

For example, the tax due in relation to a 2019-20 self-assessment
would normally be payable on 31 January 2020 (first POA), 31 July
2020 (second POA) and 31 January 2021 (balancing payment).
Further information is given in Chapter 15 of this book.

(n) An employed taxpayer whose balancing payment does not
exceed £3,000 may require that this should be collected via the PAYE
system (see Chapter 7). In such a case, taxpayers who file their tax
returns electronically must do so by 30 December so as to give
HMRC sufficient time to make the necessary arrangements.

Notification of chargeability to tax

An individual who has not received a notice to submit a tax return, but
has taxable income (or gains) of which HMRC is not aware, must
notify HMRC of his or her chargeability to tax within six months of the
end of the tax year in which the income arises. However, notification
of chargeability is not required if all of the following conditions are
satisfied: (a) the individual has no capital gains

(b) the individual is not liable to tax at a rate which exceeds basic rate
(see Chapter 2) (c) all of the individual's income has been subject to
deduction of income tax at source (see Chapter 2) or has been dealt



with via the PAYE system (see Chapter 7) (d) the individual is not
liable to a high income child benefit charge (see Chapter 7).

An individual who fails to notify chargeability within the permitted six-
month period will incur a penalty (see Chapter 15).
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Determinations

If an individual fails to submit a tax return by the required date, an
Officer of Revenue and Customs may make a determination of the
tax due, calculated according to "the best of his information and
belief". There is no right of appeal against a determination and the tax
due cannot be postponed. A determination can be displaced only if
the return is filed.

Enquiries

HMRC may "enquire" into any tax return. The usual reason for
opening an enquiry is the suspicion that something is wrong with the
return. However, some enquiry cases may be selected at random and
HMRC is under no obligation to justify the opening of an enquiry or to
state whether or not the case has been chosen randomly. Note that:
(a) If a tax return is filed by the due date, an enquiry cannot usually
begin more than 12

months after the date on which the return is filed. This means that the
"enquiry window" for a return which is filed early closes
correspondingly early.

(b) If a return is filed late or is amended after the date on which the
return was due to be filed, the enquiry window is extended until the
quarter day which follows the first anniversary of the date on which
the return or amendment was filed. For this purpose, the quarter days
are 31 January, 30 April, 31 July and 31 October.



EXAMPLE

In April 2019, HMRC issues a notice requiring an individual to submit
a tax return for the year 2018-19. The return is submitted
electronically to HMRC on 8 December 2019.

(a) State the date by which any enquiry into the above return must
begin.

(b) How would the situation differ if the return was submitted on 17
March 20207

Solution

(a) The return is filed before the due date (31 January 2020). Any
enquiry must begin within 12 months of the date that the return is filed
(i.e. by 8 December 2020).

(b) The return is filed late. Any enquiry must begin by the quarter day
which follows the first anniversary of the date that the return is filed
(i.e. by 30 April 2021).

Discovery assessments

HMRC may raise a "discovery assessment" if it is discovered that full
disclosure has not been made in a tax return and tax has been lost as
a result.

The time limit for making a discovery assessment is normally four
years after the end of the tax year concerned. This increases to six
years if the taxpayer has been negligent and 20 years if the taxpayer
has been dishonest. But the normal time limit is 12 years if an
offshore matter is involved, increasing to 20 years in the case of
dishonesty.
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Record keeping

Taxpayers are required to keep proper records so that they can make
a correct tax return and (if necessary) substantiate the figures
entered on the return. A taxpayer who is in business or who lets
property must normally preserve these records for five years after the
31 January which follows the end of the tax year concerned.
Otherwise, records must be preserved for 12 months after the 31
January which follows the end of the tax year. For example, records
for tax year 2019-20 must normally be retained until 31 January 2026
by a taxpayer who is in business or who lets property and until 31
January 2022 otherwise.

Appeals

Taxpayers have the right of appeal in relation to a number of HMRC
decisions. For example, a taxpayer may appeal against a discovery
assessment or against an HMRC

amendment to a self-assessment. The main features of the appeals
system are as follows: (a) An appeal must be sent to HMRC in writing
within 30 days of the disputed decision.

(b) The taxpayer may also apply to postpone payment of all or part of
any tax which is payable as a result of the decision, though interest
will continue to accrue on the postponed amount until the appeal is
settled. However, postponement is generally not available if the
appeal relates to the use of a tax avoidance scheme covered by the
DOTAS rules (see below) or in connection with arrangements which
have been counteracted by HMRC under the GAAR (see below).

(c) On receiving an appeal, HMRC considers the taxpayer's reasons
for disputing the decision. Most appeals are settled by discussion and
agreement at this stage.

(d) If the taxpayer and HMRC are unable to agree, the taxpayer will
be offered an internal review of the decision. A taxpayer who wishes
to accept this offer must normally do so within 30 days. An internal



review is carried out by an HMRC officer who has not previously been
involved with the disputed decision and is usually completed within 45
days. The review officer then writes to the taxpayer to inform him or
her of the review's conclusions.

(e) A taxpayer who rejects the offer of an internal review may appeal
to a tribunal within 30 days of the date of the offer letter. Otherwise,
an appeal to a tribunal may be made within 30 days of the date of the
review conclusion letter.

(f) Most appeals are dealt with by the Tax Chamber of the First-tier
Tribunal. However, more complex appeals may be heard by the Tax
and Chancery Chamber of the Upper Tribunal. The Upper Tribunal
also hears appeals against First-tier Tribunal decisions.

(g) If either HMRC or the person concerned is dissatisfied with a
decision made by the Upper Tribunal, a dispute on a point of law may
be referred to the Court of Appeal.
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The costs of bringing an appeal before the First-tier Tribunal are
usually fairly modest. Parties bear their own costs and so a taxpayer
who loses an appeal is not normally required to pay HMRC's costs
(unless the taxpayer has acted wholly unreasonably). The costs of
taking an appeal to higher authority can be very high and an
unsuccessful taxpayer may be required to pay HMRC's costs in
defending the appeal as well as his or her own costs.

Tax evasion

Taxpayers are required to provide information which is correct and
complete. Dishonest behaviour (e.g. concealing a source of income)
is known as tax evasion and is against the law. On summary
conviction in a magistrates' court, an offender may be imprisoned for
up to six months. If the conviction is obtained on indictment in a



higher court, the maximum prison term is seven years. In either case,
a fine of any amount may also be imposed.

Tax avoidance

Taxpayers are entitled to organise their financial affairs in such a way
that their tax burden is minimised. This perfectly legal activity is
known as tax avoidance. For example, a taxpayer might legally avoid
income tax and/or capital gains tax by moving funds into a tax-
efficient investment (see Chapter 6). Tax avoidance (which is legal)
should be sharply contrasted with tax evasion (which is not).

Tax avoidance is acceptable within limits but, over the years, tax
advisors have shown great ingenuity in devising very complex and
highly artificial tax avoidance schemes to exploit "loopholes" in the
tax system. These schemes often result in a significant loss of tax
revenue until eventually blocked by specific anti-avoidance
legislation. So as to limit the effectiveness of tax avoidance schemes,
a regime known as DOTAS (Disclosure of Tax Avoidance Schemes)
has been introduced which requires certain disclosures by those who
devise such schemes or use them. A brief summary of the
requirements is as follows: (a) Those who promote and market
schemes which bear certain "hallmarks" of tax avoidance are
required to provide HMRC with details of each scheme. Promoters
must provide a description of the scheme, including details of its tax
consequences and the statutory provisions on which it relies. The
scheme is then registered by HMRC and is allocated a reference
number.

(b) Taxpayers using such a scheme are required to quote the
reference number of the scheme in their tax returns. Taxpayers who
develop their own "in-house" tax avoidance schemes must provide
details of each scheme directly to HMRC.

These rules are intended to provide HMRC with advance warning of
tax avoidance schemes, so enabling swifter and more effective
investigation and counteraction.
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General anti-abuse rule (GAAR)

Finance Act 2013 introduced a "general anti-abuse rule" (GAAR) into
UK tax law. This rule applies to income tax, capital gains tax,
inheritance tax, corporation tax and certain indirect taxes. The aim of
the GAAR is to counteract tax advantages arising from abusive tax
arrangements. Tax arrangements are defined as "abusive" if they
cannot be regarded as reasonable in relation to the relevant tax law,
having regard to whether the arrangements: (a) are consistent with
the principles on which the relevant tax law is based (b) involve any
contrived or abnormal steps

(c) are intended to exploit any shortcomings in the tax law.

The GAAR empowers HMRC to make "just and reasonable"
adjustments to counteract the tax advantages that would otherwise
arise from tax arrangements that are deemed to be abusive. These
adjustments may involve increasing a taxpayer's tax liability or
imposing a tax liability where otherwise there would be none.
However, before making any such adjustments, HMRC must comply
with the following procedure: (a) If an officer of HMRC considers that
a tax advantage has arisen as a result of abusive tax arrangements,
the taxpayer concerned must be provided with a written notice to that
effect. The notice must explain why HMRC considers the
arrangements to be abusive and must set out the proposed
counteraction. The taxpayer then has 45 days in which to make
written representations in response to this notice.

(b) If, after considering any representations received from the
taxpayer, HMRC still believes that counteraction should be taken, the
matter must then be referred to the GAAR Advisory Panel (an
independent panel established for this purpose). The taxpayer must
be notified that the matter is being referred in this way and then has
21



days in which to make written representations to the Advisory Panel.

(c) The GAAR Advisory Panel considers the tax arrangements
concerned and produces an opinion notice, stating whether or not (in
the opinion of the Panel members) the arrangements are abusive.
HMRC must then issue a notice to the taxpayer, setting out whether
the tax arrangements are to be counteracted.

(d) A penaltyt will generally apply in cases where abusive tax
arrangements have been successfully counteracted by means of the
GAAR. The penalty is equal to 60% of the additional tax payable as a
result of the counteraction (see Chapter 15).

Taxpayers may appeal against an HMRC decision to counteract tax
arrangements. When considering such an appeal, the tribunal or
court must take into account the opinion expressed by the GAAR
Advisory Panel.

T The Government has recently introduced a penalty for the
"enablers” of abusive tax arrangements which are defeated by
HMRC. An enabler is typically someone who designs abusive tax
arrangements and markets them to clients The amount of the penalty
is equal to 100% of the fees charged by the enabler to clients who
use the arrangements in the hope of gaining a tax advantage.
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Making Tax Digital (MTD)

The Government has announced that it intends to replace self
assessment tax returns with online "digital tax accounts”. These
accounts will be phased in over the next few years and will be pre-
populated with information already held by HMRC (e.g. employment
income, bank interest received etc.). Taxpayers will be able to visit
their digital accounts at any time and, in many cases, will not need to
submit any information to HMRC at all.



Self-employed taxpayers and those with income from property will be
required to use MTD-compliant accounting software to record their
income and expenditure and to update their digital tax accounts every
three months. However, it is expected that there will be an exemption
from quarterly reporting for taxpayers with business or property
income which does not exceed a specified threshold (possibly
£10,000). There will also be an MTD

exemption for taxpayers who are "digitally excluded", either on
religious grounds or because of their age, disability or location.

The current MTD timetable envisages that MTD will not be introduced
for income tax purposes until at least 2021. However, MTD for VAT
began in April 2019 for businesses with turnover above the VAT
threshold (see Chapter 30) and MTD will also apply to corporation tax
in due course.

The HMRC Charter

The HMRC Charter sets out the rights and obligations of taxpayers.
The Charter explains what the taxpayer can expect from HMRC and
what HMRC expects from the taxpayer. In summary, the taxpayer can
expect:

* to be treated even-handedly and with respect and to be treated as
honest

* to receive help and support from HMRC

* to be tackled if he or she breaks or bends the rules of the tax
system

« that HMRC will be professional and act with integrity

- that HMRC will protect taxpayer information and respect taxpayer
privacy

» that the costs of dealing with HMRC will be kept as low as possible.



In return, HMRC expects taxpayers to be honest, to take care to get
things right and to treat HMRC staff with respect.

The Adjudicator

An independent and impartial Adjudicator considers complaints made
by taxpayers who are not satisfied with the quality of the service they
have received from HMRC. The Adjudicator writes an annual report

and makes recommendations for improvements to HMRC procedures
and practices. The Adjudicator is not empowered to hear tax appeals.
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Summary

»

The main direct taxes are income tax, CGT, inheritance tax and corporation tax.
Indirect taxes include VAT, stamp duty and excise duties.

Taxation law is a combination of statute law and case law. Statements made by the
tax authorities provide information on the authorities' interpretation of the law.

The fiscal year runs from 6 Aprl to the following 5 April. The corporation tax
financial year runs from 1 April to the following 31 March.

Individuals who fall within the scope of the Self Assessment system are normally
required to submit an annual tax return. Paper returns must be filed by 31 October
following the end of the tax year. Returns submitted electronically must be filed by
the following 31 January.

A taxpayer who has not received a tax return notice, but has taxable income or gains
of which HMRC is not aware, must notify HMRC of his or her chargeability to tax
within six months of the end of the tax year in which the income arises.

If a tax return is submitted by the required filing date, HMRC cannot initiate an
enquiry into the return more than 12 months after the date on which the return is
submitted. Discovery assessments may be made after the enquiry window has closed
if it is discovered that the taxpayer has not made full disclosure of all relevant facts.

Tax appeals which cannot be settled by agreement between the taxpayer and HMRC
are dealt with by a two-tier tribunals system.

Tax evasion involves dishonest conduct by the taxpayer and is illegal. Tax avoidance
involves the sensible arrangement of the taxpayer's affairs so as to minimise the
liability to tax and is legal. However, abusive tax avoidance schemes may fall foul of
the general anti-abuse rule (GAAR) and be counteracted by HMRC.

Digital tax accounts are set to replace self assessment tax returns within a few years.
Self-employed taxpayers and landlords will generally be required to keep electronic
records of their income and expenditure and to update their digital tax accounts at
quarterly intervals.

Multiple choice questions

A set of multiple choice questions for this chapter is available on the website which accompanies
this book. The website address is www.pearsoned.co.ukimelville.
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Chapter 2
Introduction to income tax

Introduction

Income tax assessments are computed for a tax year (or "year of assessment") and are
based on the taxpayer's total income for the year from all sources, ignoring any income
which is exempt from income tax. This chapter explains the main features of an income
tax computation, in preparation for the much more detailed information which is provided
in subsequent chapters.

Most of the primary legislation relating to income tax used to be located in the Income
and Corporation Taxes Act 1988, but this legislation has mostly been rewritten and moved
to more recent statutes. Income tax legislation can now be found mainly in the Income Tax
(Earnings and Pensions) Act 2003, the Income Tax (Trading and Other Income) Act 2005
and the Income Tax Act 2007, as amended by subsequent Finance Acts.

Taxable persons

Individuals who are resident in the UK for a tax year are generally charged to income tax
on all of their income for that year, including both income arising in the UK and income
arising overseas. However, there are two main exceptions to this general rule:

(a) Some forms of income are exempt from income tax altogether (see below).

(b) UK residents who are not UK-domiciled (i.e. whose permanent home is not the UK)
may claim that their overseas income should be subject to UK income tax only to the
extent that the income is remitted to the UK. However, this may lead to an additional
tax charge of £30,000 or more in some cases (see Chapter 32).

Individuals who are not UK residents are liable to pay income tax on their UK income
only (see Chapter 32). Income tax is payable by:

(a) adults, on their own income and on their share of the income of a partnership
(b) children, if they have sufficient income to pay tax (see below)
(¢) trustees, on the income of a trust or settlement

(d) personal representatives, on income arising from the estate of a deceased person.
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Child's income derived from parent

If an unmarried minor child receives investment income which is
derived from a parent, this income is treated for tax purposes as the
income of the parent, not the child, unless the amount involved does
not exceed £100 (per parent per child) in the tax year. This prevents
parents from transferring income-bearing assets to a child so as to
take advantage of the child's personal allowance (see Chapter 3).

However, income which is derived from parental contributions to a
Child Trust Fund account or a Junior ISA (see Chapter 6) does not
count towards the £100 limit.

Exempt organisations and individuals

Most organisations are generally exempt from income tax, subject to
various restrictions and exceptions. Certain individuals are also
exempt. Exempt organisations and individuals include the following:

(a) companies, which are liable to corporation tax rather than income
tax (b) clubs and societies, which are also liable to corporation tax (c)
registered pension schemes

(d) registered charities (on income used for charitable purposes) (e)
representatives of foreign countries (e.g. ambassadors) (f) visiting
members of foreign armed forces (on their service pay and on income
arising from a source outside the UK).

Classification of income

Income is classified for income tax purposes into a number of types
or categories, each with its own set of rules for calculating the amount
of income of that type arising in a tax year. These rules are located in
the Income Tax (Earnings and Pensions) Act 2003 and in the Income
Tax (Trading and Other Income) Act 2005. The main classes of
income which are subject to income tax are as follows:

Statute



Type of income
Chapter of this book
ITEPA 2003
Employment income
Chapters 7-8
Pensions

Chapter 7

Social security income
Chapter 7

ITTOIA 2005

Trading income
Chapters 9-13
Property income
Chapter 5

Interest

Chapter 6

Dividends

Chapter 6
Miscellaneous income

Chapter 6



Each of these classes of income is considered in some detail in later
chapters of this book.
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Exempt income

Certain types of income are specifically exempt from income tax and
should be completely ignored when preparing an income tax
computation. Some of the more important sources of exempt income
are as follows:

(a) Exempt savings and investment income (see Chapter 6):
- income from Individual Savings Accounts
- income from National Savings Certificates

- interest arising from a Save As You Earn arrangement linked to a
tax-advantaged employee share option scheme (see Chapter 7)

- income from investments held in a Child Trust Fund account

- dividends on shares held in a Venture Capital Trust (subject to
conditions) (b) Exempt employment income (see Chapter 7):

- certain minor benefits provided by employers for their employees

- bonus payments of up to £3,600 per annum received by employees
of companies controlled by an employee ownership trust

- the first £30,000 of "ex gratia" compensation received for loss of
employment

- certain lump sums payable under registered pension schemes (e.g.
a lump sum payable at the commencement of a pension)



- the operational allowance paid to UK armed forces serving in
specified locations (c) Exempt property income (see Chapter 5):

- gross property income of up to £1,000 per annum

- income of up to £7,500 per annum received under the "rent-a-room"
scheme (d) Other exempt income:

- gross trading income of up to £1,000 per annum (see Chapter 9)

- winnings from betting, competition prizes and premium bond prizes
- maintenance payments (see Chapter 4)

- income from scholarships

- wound and disability pensions

- certain social security benefits (e.g. child benefitt and housing
benefit)

- income from the sale of electricity generated by home
microgeneration systems

- most commissions, discounts and cashbacks received by ordinary
retail customers

- damages or compensation received for personal or professional
injury

- certain payments made to individuals who foster or adopt children.

T Although child benefit is exempt from income tax, a taxpayer who
receives child benefit and has an income exceeding £50,000 p.a.
may be subject to an income tax charge known as the "high income
child benefit charge" (see Chapter 7).
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of an income tax computation

In order to calculate a taxpayer's income tax liability for a tax year it is
necessary to bring together all of the taxpayer's income into a single
income tax computation. The structure of this computation is
specified in the Income Tax Act 2007. A typical computation for the
year 2019-20 might appear as follows:

£

Business profits
58,960

Loan interest taxed at source (pre-tax equivalent)
640

Bank interest received
60

Total income

59,660

Less: Tax reliefs

750

Net income

58,910

Less: Personal allowance



12,500
Taxable Income
46,410
Income taxt
37,500 @ 20%
7,500.00
8,210 @ 40%
3,284.00

500 @ 0%
0.00

200 @ 40%
80.00

46,410
10,864.00

Less: Tax reductions



0.00

Tax borne

10,864.00

Add: Tax withheld on payments
0.00

Tax liability for the year
10,864.00
Less: Tax paid by deduction at source

128.00

Tax payable
10,736.00

T This section of the computation would be different for a Scottish
taxpayer (see below).

All of the terms used in this computation are explained in detail in this
chapter and in later chapters. For now, the main features of the
computation are as follows: (a) The taxpayer's "total income" for the
year is calculated by adding together income from all sources,
including the pre-tax equivalent of any income from which tax has
been deducted at source but excluding income which is exempt from
income tax.



(b) Relief for certain payments made by the taxpayer (see Chapter 4)
together with certain loss reliefs (see Chapters 5 and 12) and relief
for certain pension contributions (see Chapter 14) are deducted from
total income, giving "net income”".
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Any personal allowance available to the taxpayer is deducted from
net income to give

"taxable income". The personal allowance for tax year 2019-20 is
usually £12,500, ensuring that those on very low incomes are not
liable to income tax. However, the allowance is reduced (possibly to
zero) for those on high incomes (see Chapter 3).

(d) Income tax is charged on the taxable income, using the rates of
tax in force for the year. The amount of tax calculated in this way is
then subject to a number of adjustments and the result is the tax
payable to HM Revenue and Customs.

(e) The tax borne by the taxpayer is the amount of income tax
suffered for the year. This may be different from the tax liability, which
is the amount of tax which must be accounted for to HMRC and the
tax payable which is the tax remaining to be paid after deducting any
tax already paid for the year. These distinctions will become clearer in
the course of the next two chapters.

A formal tax computation is not required for every taxpayer. For
example, a computation is not usually required for an individual
whose income is derived entirely from employment, since the correct
amount of tax is normally deducted automatically by the PAYE

system (see Chapter 7). However, the only way to calculate the
income tax liability in more complex cases is to prepare a tax
computation.

Married couples and civil partners



Married couples are taxed independently, which means that the
husband's income and the wife's income are taxed completely
separately. This is also the case for same-sex civil partners who have
entered into a legally-recognised civil partnership.

If a married couple (or civil partners) have income which is derived
from an asset held in their joint names, such as interest on a joint
bank account, the amount of that income will normally be divided
between them equally for tax purposes. But if the source of income is
genuinely held between them in some other proportion, the couple
may make a declaration to that effect and the income will then be
divided between them as appropriate.

Rates of income tax for 2019-20

An individual's taxable income is taxed according to the rates of
income tax in force for the year in question. For non-Scottish
taxpayers, the main income tax rates and thresholds for tax year
2019-20 are as follows:

Band

Rate

First £37,500 of taxable income

20% (the "basic rate")

Next £112,500 of taxable income (up to £150,000)
40% (the "higher rate")

Remaining taxable income after the first £150,000
45% (the "additional rate")
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(a) The point at which basic rate tax gives way to higher rate tax is
known as the "basic rate limit". For non-Scottish taxpayers in 2019-
20, this limit is £37,5001 and the first

£37,500 of taxable income is referred to as the "basic rate band".
Similarly, the figure of £150,000 is known as the "higher rate limit"
and taxable income lying between

£37,500 and £150,000 may be referred to as the "higher rate band".
T The basic rate limit will remain at £37,500 in tax year 2020-21.

(b) Savings income and dividend income are treated specially, as
explained below.

(c) Calculations are made to the nearest pound when calculating
taxable income. The amount of tax due on that income is calculated
to the nearest penny in this book but HMRC will generally accept
calculations made to the nearest pound.

Scottish taxpayers

Scotland Act 2016 gives the Scottish Parliament full control over the
income tax rates and thresholds which should apply to the non-
savings income of Scottish taxpayerst. The term

"non-savings income" refers to taxable income which is neither
savings income nor dividends (see later in this chapter) and
encompasses mainly income from employment or self-employment
and income from property. For 2019-20, the income tax bands and
rates which apply to the non-savings income of Scottish taxpayers
are as follows: Band

Rate
First £2,049 of taxable non-savings income

19% (the "starter rate")



Next £10,395 (up to £12,444)
20% (the "basic rate")

Next £18,486 (up to £30,930)
21% (the "intermediate rate")
Next £119,070 (up to £150,000)
41% (the "higher rate")
Remainder after the first £150,000
46% (the "top rate")

Therefore the starter rate limit for 2019-20 is £2,049, the basic rate
limit is £12,444, the intermediate rate limit is £30,930 and the higher
rate limit is £150,000.

T Scottish taxpayers are broadly defined as those who live in
Scotland. Please see the Appendix at the end of this chapter for more
information.

EXAMPLE 1

Calculate the 2019-20 income tax liability of a non-Scottish taxpayer
with taxable income (i.e. income remaining after deducting any
available personal allowance) of: (a) £11,730

(b) £14,493
(c) £30,000
(d) £33,150
(€) £58,600
()



£231,400

Assume that none of the income is derived from savings or dividends.
How would these income tax liabilities differ in the case of a Scottish
taxpayer?
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Solution

Non-Scottish taxpayer:

(@) £11,730 @ 20% = £2,346.00

(b) £14,493 @ 20% = £2,898.60

(c) £30,000 @ 20% = £6,000.00

(d) £33,150 @ 20% = £6,630.00

(e) £37,500 @ 20% + £21,100 @ 40% = £15,940.00

(f)

£37,500 @ 20% + £112,500 @ 40% + £81,400 @ 45% = £89,130.00
Scottish taxpayer:

(a) £2,049 @ 19% + £9,681 @ 20% = £2,325.51

(b) £2,049 @ 19% + £10,395 @ 20% + £2,049 @ 21% = £2,898.60
(c) £2,049 @ 19% + £10,395 @ 20% + £17,556 @ 21% = £6,155.07

(d) £2,049 @ 19% + £10,395 @ 20% + £18,486 @ 21% + £2,220 @
41% = £7,260.57



(€) £2,049 @ 19% + £10,395 @ 20% + £18,486 @ 21% + £27,670 @
41% = £17,695.07

(f)

£2,049 @ 19% + £10,395 @ 20% + £18,486 @ 21% + £119,070 @
41% +

£81,400 @ 46% = £92,613.07

Note that a Scottish taxpayer pays less income tax (on non-savings
income) than a non-Scottish taxpayer in 2019-20 until taxable income
reaches £14,493. At this point the tax liabilities are equal. But if
taxable income exceeds £14,493, a Scottish taxpayer will pay more
income tax than a non-Scottish taxpayer.

Welsh taxpayers

As from tax year 2019-20, Wales Act 2014 gives the National
Assembly for Wales the right to set Welsh rates of income tax. The
rates of income tax which apply to the non-savings income of Welsh
taxpayerst are derived by subtracting 10p in the pound from the
basic rate, higher rate and additional rate which apply in the
remainder of the UK (other than Scotland) and then adding on the
Welsh rates set for that year for the purpose of calculating the Welsh
basic rate, the Welsh higher rate and the Welsh additional rate.

However, the three Welsh rates for 2019-20 have all been set at 10%.
Therefore the rates of income tax payable by Welsh taxpayers for
2019-20 are the same as those paid elsewhere in the UK (apart from
in Scotland). For instance, the Welsh basic rate is (20% —

10% + 10%) = 20%.

T Welsh taxpayers are broadly defined as those who live in Wales.
The definition of a Welsh taxpayer is very similar in principle to the
definition of a Scottish taxpayer (see the Appendix at the end of this
chapter).
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taxed at source

Certain types of income are taxed at source, which means that basic
rate income tax is deducted from the income before the taxpayer
receives it. In tax year 2019-20, the main types of income normally
received net of basic rate tax are: (a) debenture and other loan
interestt paid by UK companies (b) interest on UK government
securities ("gilt-edged" securities) if the taxpayer applies to receive
this interest with tax deducted at source

(c) the income element of a purchased life annuity (as long as the
annuity has not been purchased with assets held under a registered
pension scheme) (d) patent royalties.

T Bank and building society interest is now paid gross (i.e. without
deduction of tax at source).

Income which has been taxed at source must still be included in the
taxpayer's income tax computation, despite the fact that tax has
already been paid. This may seem unnecessary but there are two
good reasons for including such income in the tax computation: (a) It
is important to derive correct figures for the taxpayer's "total income"
and "net income", as will become clearer in later chapters.

(b) The basic rate tax which has been deducted at source might be
inadequate or might be excessive, depending upon the taxpayer's
individual circumstances. The only way to check this is to aggregate
the income concerned with all of the taxpayer's other income in a
single tax computation.

In a tax computation, all income must be shown "gross". In other
words, the amount of income shown must be the amount of the
income before any income tax was deducted at source. When the tax
liability has been calculated, tax paid by deduction at source is
subtracted and the taxpayer is then required to pay only the balance



of the liability. A tax refund is given if tax deducted at source exceeds
the tax liability for the year.

If income is taxed at source, the amount received by the taxpayer is
often referred to as the "net" amount of the income. This usage of the
term "net" must be distinguished from the entirely different usage of
the same term in the Income Tax Act 2007, which defines

"net income" as being equal to a taxpayer's total income less tax
reliefs.

Grossing up

If income has been received net of basic rate (20%) income tax, the
gross amount of the income can be ascertained by multiplying the
amount received by 100/80. This calculation is often referred to as
"grossing up". When wages and salaries are received net of income
tax, the gross pay and the amount of tax deducted can be
ascertained by examining the end-of-year certificate supplied by the
taxpayer's employer (see Chapter 7).
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Savings income

The tax liability on a taxpayer's "savings income" is calculated
differently from the tax liability on non-savings income. The main
categories of savings income are: (a) interest received from banks,
building societies and NS&l, plus interest received on gilt-edged
securities and corporate bonds (e.g. debentures and loan stocks) (b)
the income element of purchased life annuities (other than annuities
from registered pension schemes, which are treated as non-savings
income)

(c) certain foreign income (see Chapter 32).

But savings income does not include dividends received. The tax
regime which applies to dividends is explained later in this chapter.



An important difference between the taxation of savings income and
non-savings income is that savings income which falls into the first
£5,000 (for 2019-20) of taxable income is taxed at the starting rate for
savings of 0%, so that such income is effectively tax-free. If a
taxpayer has both savings income and non-savings income, it is
necessary to split taxable income between these two categories
before the tax liability can be calculated. Note that: (a) Non-savings
income is regarded as the bottom layer or "slice" of taxable income
and savings income is regarded as a higher layer. This means that
the starting rate will not be available (in 2019-20) if taxable income
includes non-savings income of at least

£5,000. Otherwise, some or all of the taxpayer's savings income (if
any) will fall into the first £5,000 of taxable income and will be taxed
at the starting rate of 0%.

(b) Tax reliefs and the personal allowance are set against income in
the way which gives the lowest tax liability. In general, these
deductions should be made from non-savings income in priority to
savings income, since non-savings income cannot benefit from the
0% rate. However, there are exceptions to this rule (see later in this
chapter).

(c) The figure of £5,000 (for 2019-20) is known as the starting rate
limit for savings.

A further difference between the taxation of savings income and non-
savings income is that the tax liability on a taxpayer's savings income
is unaffected by whether or not the taxpayer is Scottish (or Welsh).
The Scottish tax rates and limits (and the Welsh rates) listed earlier
do not apply to savings income, which is always taxed using the rates
and limits that apply throughout the remainder of the UK (see
examples below).

Personal savings allowance

ITA 2007 provides that taxpayers are entitled to a personal "savings
allowance" (PSA) of up to £1,000 per tax year. In general, this means



that the first £1,000 of savings income included in taxable income is
taxed at the "savings nil rate" of 0%. However, the PSA is lower than
£1,000 in some cases (see below).

It is important to realise that the PSA is not used against any savings
income which falls within the first £5,000 of taxable income and so
already benefits from the starting rate for 24
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The PSA is used only against savings income which falls beyond the
first £5,000

of taxable income. Therefore a taxpayer with non-savings income of
£nil in 2019-20 and a PSA of £1,000 will pay 0% income tax on the
first £6,000 of taxable savings income. Note the following important
points relating to the PSA:

(a) A taxpayer's PSA for 2019-20 is £1,000 unless:

(i) taxable income for the year exceeds the non-Scottisht basic rate
limit (but does not exceed the higher rate limit) in which case the PSA
is £500

(ii) taxable income for the year exceeds the higher rate limit, in which
case the PSA for the year is £nil.

The non-Scottish basic rate limit for 2019-20 is normally £37,500 (see
above) and the higher rate limit is normally £150,000. However, these
figures are both increased if the taxpayer makes Gift Aid donations in
the year (see Chapter 4) or makes pension contributions that are
"relieved at source" (see Chapter 14).

T In the case of Scottish taxpayers, the non-Scotftish basic rate limit of
£37,500 is used both for the purpose of determining the amount of
the PSA to which the taxpayer is entitled and when calculating the
amount of income tax due on savings income. This ensures that the
amount of income tax payable on the savings income of a Scottish
taxpayer is exactly the same as would be payable if he or she were
not a Scottish taxpayer.



(b) Although savings income falling within the PSA is effectively tax-
free, the income concerned is still part of the taxpayer's taxable
income for the year. This is significant when determining whether
taxable income exceeds the basic rate limit or higher rate limit (see
above) and may also be significant when calculating the taxpayer's
entitlement to personal allowances (see Chapter 3). The same point
applies to savings income which is taxed at the starting rate for
savings.

EXAMPLE 2

Calculate the personal savings allowance available in 2019-20 to a
taxpayer with taxable income for the year (i.e. net income less any
available personal allowance) of: (a) £20,000

(b) £37,501
(c) £63,000
(d) £375,000

Assume that there are no Gift Aid donations or pension contributions
during the year.

Solution

(a) Taxable income does not exceed £37,500, therefore the PSA is
£1,000.

(b) Taxable income exceeds £37,500 but does not exceed £150,000.
Therefore the PSA is £500. Exceeding the basic rate limit by £1 has
reduced the PSA by £500.

(c) Taxable income exceeds £37,500 but does not exceed £150,000.
The PSA is £500.

(d) Taxable income exceeds £150,000, therefore the PSA is £nil.



Note: These PSA figures are the same whether or not the taxpayer is
Scottish.
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EXAMPLE 3

In 2019-20, Robert (who is not a Scottish taxpayer) has business
profits of £40,000 and receives bank interest of £1,250. His personal
allowance is £12,500. Calculate Robert's income tax liability for the
year. How would this differ for a Scottish taxpayer?

Solution
Total
Non-savings
Savings

£

£

£

Business profits
40,000
40,000

Bank interest
1,250

1,250



Total income

41,250

40,000

1,250

Less: Personal allowance
12,500

12,500

Taxable income
28,750

27,500

1,250

Income tax due



Non-savings income : Basic rate
27,500 @ 20%

5,500.00

Savings income

: Nil rate

1,000 @ 0%

0.00

: Basic rate

250 @ 20%

50.00

28,750

Tax liability
5,550.00

Notes:
(i)

Taxable income includes non-savings income of more than £5,000.
Therefore the starting rate for savings is not available.



(i) Taxable income does not exceed £37,500, so the PSA is £1,000.
Savings income of

£1,000 is taxed at the savings nil rate.

(iif) Non-savings income occupies the first £27,500 of the basic rate
band, so there is

£10,000 (£37,500 — £27,500) of this band remaining. Savings income
is less than this and is therefore taxed at 20% (apart from the first
£1,000 covered by the PSA).

Scottish taxpayers

If Robert were a Scottish taxpayer, the income tax on his non-savings
income would be calculated using Scottish rates and limits. Taxable
non-savings income is £27,500 so the tax due on this income would
be (£2,049 x 19%) + (£10,395 x 20%) + (£15,056 x 21%) =

£5,630.07. This would increase his total tax liability by £130.07 to
£5,680.07.

It is important to appreciate that the tax due on savings income would
be unaffected. The PSA would still be determined by comparing
taxable income (£28,750) with £37,500. And the tax due on savings
income would be calculated as above, using non-Scottish income tax
rates and limits.
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4

In 2019-20, Roberta (who is not a Scottish taxpayer) has rental
income of £16,700 and receives building society interest of £1,100.
Her personal allowance is £12,500. Calculate the income tax liability
for the year. How would this differ for a Scottish taxpayer?

Solution



Total

Non-savings

Savings

£

£

£

Income from property
16,700

16,700

Building society interest
1,100

1,100

Total income
17,800
16,700
1,100

Less: Personal allowance



12,500
12,500

Taxable income
5,300
4,200
1,100

Income tax due

Non-savings income : Basic rate
4,200 @ 20%

840.00

Savings income

. Starting rate

800 @ 0%

0.00



: Nil rate
300 @ 0%
0.00

5,300

Tax liability
840.00

Notes:
(i)

The non-savings income occupies £4,200 of the basic rate band. This
allows £800

(£5,000 — £4,200) of the savings income to be taxed at the starting
rate of 0%.

(i) Taxable income does not exceed £37,500, so the PSA is £1,000.

(iii) The remaining £300 of savings income (£1,100 — £800) does not
exceed £1,000, so this is taxed at the savings nil rate.

Scottish taxpayers

If Roberta were a Scottish taxpayer, the income tax on her non-
savings income would be calculated using Scottish rates and limits.
Taxable non-savings income is £4,200 so the tax due on this income



would be (£2,049 x 19%) + (£2,151 x 20%) = £819.51. This would
reduce her total liability by £20.49. The tax due on savings income
would be unaffected.
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EXAMPLE 5

In 2019-20, Kenneth (who is not a Scottish taxpayer) has business
profits of £58,850 and bank interest of £980. His personal allowance
for the year is £12,500. He makes no Gift Aid donations or pension
contributions during 2019-20. Calculate Kenneth's income tax liability
for the year. Also explain how this liability would differ for a Scottish
taxpayer.

Solution
Total
Non-savings
Savings

£

£

£

Business profits
58,850
58,850

Bank interest

980



980

Total income

59,830

58,850

980

Less: Personal allowance
12,500

12,500

Taxable income
47,330

46,350

980



Income tax due
Non-savings income : Basic rate
37,500 @ 20%
7,500.00

: Higher rate
8,850 @ 40%
3,540.00
Savings income
: Nil rate

500 @ 0%

0.00

: Higher rate
480 @ 40%
192.00

47,330

Tax liability



11,232.00

Notes:
(i)
Taxable income includes non-savings income of more than £5,000.

Therefore the starting rate for savings is not available.

(i) Taxable income exceeds £37,500, so the PSA is £500 and the first
£500 of savings income is taxed at the savings nil rate.

(iif) Non-savings income occupies the whole of the basic rate band.
Therefore savings income is taxed at 40% (apart from the first £500
which is covered by the PSA).

Scottish taxpayers

If Kenneth were a Scottish taxpayer, the income tax on his non-
savings income would be calculated using Scottish rates and limits.
Taxable non-savings income is £46,350 so the tax due on this income
would be (£2,049 x 19%) + (£10,395 x 20%) + (£18,486 x 21%) +

(£15,420 x 41%) = £12,672.57. This would increase his total tax
liability by £1,632.57 to

£12,864.57. The tax due on his savings income would be unaffected.
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In 2019-20, Philip (who is not a Scottish taxpayer) has business
profits of £240,235 and building society interest of £1,600. His
personal allowance for the year is zero. He makes no Gift Aid
donations or pension contributions during 2019-20. Calculate his



income tax liability for the year. Also explain how this liability would
differ for a Scottish taxpayer.

Solution

Total
Non-savings
Savings

£

£

£

Business profits
240,235
240,235
Building society interest
1,600

1,600

Total income
241,835
240,235



1,600

Less: Personal allowance
0

0

Taxable income
241,835
240,235

1,600

Income tax due

Non-savings income : Basic rate
37,500 @ 20%

7,500.00

: Higher rate

112,500 @ 40%



45,000.00

: Additional rate
90,235 @ 45%
40,605.75
Savings income
: Additional rate
1,600 @ 45%
720.00

241,835

Tax liability
93,825.75

Notes:
(i)

Taxable income includes non-savings income of more than £5,000.
Therefore the starting rate for savings is not available.

(i) Taxable income exceeds the higher rate limit, so the PSA is £nil.



(iif) Non-savings income occupies the whole of the basic rate and
higher rate bands, so the bank interest is taxed at the additional rate
of 45%.

Scottish taxpayers

If Philip were a Scottish taxpayer, the income tax on his non-savings
income would be calculated using Scottish rates and limits. Taxable
non-savings income is £240,235 so the tax due on this income would
be (£2,049 x 19%) + (£10,395 x 20%) + (£18,486 x 21%) +

(£119,070 x 41%) + (£90,235 x 46%) = £96,677.17. This would
increase his total liability by £3,571.42 to £97,397.17. The tax due on
savings income would be unaffected.
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EXAMPLE 7

In 2019-20, Philippa has business profits of £10,000. She also
receives bank interest of

£3,380 and net loan interest of £36,680. Her personal allowance is
£12,500 and she makes no Gift Aid donations or pension
contributions during 2019-20.

Calculate the income tax payable by Philippa for the year. Does it
matter whether or not she is a Scottish taxpayer?

Solution
Total
Non-savings
Savings

£



£

£

Business profits
10,000

10,000

Bank interest
3,380

3,380

Loan interest £36,680 x 100/80
45,850

45,850

Total income

59,230

10,000

49,230

Less: Personal allowance

12,500



10,000
2,500

Taxable income
46,730

nil

46,730

Income tax due
Savings income
5,000 @ 0%
0.00

: Nil rate

500 @ 0%

0.00

: Basic rate

. Starting rate



32,000 @ 20%
6,400.00

: Higher rate
9,230 @ 40%
3,692.00

46,730

Tax liability

10,092.00

Less: Tax deducted at source (£45,850 — £36,680)
9,170.00

Tax payable
922.00

Notes:
(i)

Taxable income does not include any non-savings income. Therefore
the first £5,000



of savings income is taxed at the starting rate.

(i) Taxable income exceeds the basic rate limit (but not the higher
rate limit) so the PSA is £500 and the next £500 of savings income is
taxed at the savings nil rate.

(iii) The next £32,000 (£37,500 — £5,500) of the savings income is
taxed at the basic rate and the remaining £9,230 is taxed at the
higher rate.

Scottish taxpayers

Taxable income does not include any non-savings income. So the
computation is the same, whether or not Philippa is a Scottish
taxpayer.
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income

The income tax liability on a taxpayer's dividend income is calculated
differently from the liability on non-savings income or savings income.
The main points are as follows: (a) Dividends are treated as the top
slice of taxable income, ranking above both non-savings and savings
income.

(b) Dividends which fall into the basic rate bandt are generally taxed
at the "dividend ordinary rate" of 7.5%. Dividends which fall into the
higher rate band are generally taxed at the "dividend upper rate" of
32.5%. Any dividends which lie above the higher rate limit are
generally taxed at the "dividend additional rate" of 38.1%.

(c) However, taxpayers are entitled to a tax-free "dividend allowance"
of £2,000 (in tax year 2019-20) so that the first £2,000 of dividends
included in taxable income are taxed at the "dividend nil rate" of 0%.
Unlike the personal savings allowance (see above) which is reduced
for higher-rate and additional-rate taxpayers, the dividend allowance
is £2,000 in all cases.



(d) As stated earlier in this chapter, tax reliefs and the personal
allowance are set against income in the way which gives the lowest
income tax liability. In general, these deductions should be made
against non-savings income in priority to savings income and against
savings income in priority to dividends. However, there are
exceptions to this general rule (see later in this chapter).

(e) Although dividend income falling within the £2,000 dividend
allowance is tax-free, the income concerned is still part of the
taxpayer's taxable income for the year. This may be significant when
determining whether a taxpayer's taxable income exceeds the basic
rate limit or higher rate limit (which affects entittiement to the PSA)
and when calculating the taxpayer's entitlement to personal
allowances (see Chapter 3).

T In the case of Scottish taxpayers, the non-Scotftish tax bands and
limits are used when calculating the amount of income tax due on
dividend income. This ensures that the amount of income tax payable
on the dividend income of a Scottish taxpayer is exactly the same as
would be payable if he or she were not a Scottish taxpayer.

Dividends from UK-REITs

A UK company which is a property investment company may elect to
become a UK Real Estate Investment Trust (UK-REIT). Dividends
received from a UK-REIT, to the extent that they derive from the
company's tax-exempt property income or gains (see Chapter 23) are
subject to a different tax regime than the one which is described
above. Such dividends are received net of basic rate (20%) income
tax and are treated as property income.

The examples and exercises in this book all assume that any
dividends received are received from companies other than UK-
REITs.
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EXAMPLE 8

In 2019-20, Christopher (who is not a Scottish taxpayer) has rental
income of £28,590. He also has bank interest of £1,050 and
dividends of £204,100. His personal allowance for the year is zero
and he makes no Gift Aid donations or pension contributions.
Calculate his income tax liability for the year. How would this differ for
a Scottish taxpayer?

Solution
Total
Non-savings
Savings
Dividends

£

£

£

£

Income from property
28,590
28,590

Bank interest
1,050

1,050



Dividends
204,100
204,100

Total income

233,740

28,590

1,050

204,100

Less: Personal allowance
0

0

Taxable income



233,740
28,590
1,050
204,100

Income tax due
Non-savings income
28,590 @ 20%
5,718.00
Savings income
: Basic rate
1,050 @ 20%
210.00

Dividend income
: Nil rate

2,000 @ 0%
0.00

: Basic rate



: Ordinary rate
5,860 @ 7.5%
439.50

: Upper rate
112,500 @ 32.5%
36,562.50

: Additional rate
83,740 @ 38.1%
31,904.94

233,740

Tax liability
74,834.94

Notes:
(i)

Taxable income includes non-savings income of more than £5,000,
so the starting rate for savings is not available. Taxable income
exceeds the higher rate limit so the PSA is £nil. The available basic



rate band of £8,910 (£37,500 — £28,590) exceeds the savings income
of £1,050 so the whole of the savings income is taxed at 20%.

(i) The first £2,000 of the dividends are taxed at the nil rate. There is
now £5,860 of the basic rate band remaining (£37,500 — £28,590 —
£1,050 — £2,000) and therefore the next £5,860 of the dividends are
taxed at the dividend ordinary rate of 7.5%.

(iif) Dividends of £112,500 are taxed at the dividend upper rate of
32.5% and the final

£83,740 of the dividends are taxed at the dividend additional rate of
38.1%.

Scottish taxpayers

For a Scottish taxpayer, the income tax on non-savings income would
be (£2,049 x 19%) +

(£10,395 x 20%) + (£16,146 x 21%) = £5,858.97. This would
increase the total liability by

£140.97. The tax due on savings income and dividends would be
unaffected.
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9

In 2019-20, Charlie (who is not a Scottish taxpayer) receives a
pension of £17,750, bank interest of £195 and dividends of £1,600.
His personal allowance is £12,500. Calculate his income tax liability
for the year. How would this differ for a Scottish taxpayer?

Solution

Total



Non-savings
Savings
Dividends

£

£

£

£

Pension
17,750
17,750

Bank interest
195

195
Dividends
1,600

1,600



Total income

19,545

17,750

195

1,600

Less: Personal allowance
12,500

12,500

Taxable income
7,045

5,250

195

1,600



Income tax due
Non-savings income : Basic rate
5,250 @ 20%
1,050.00
Savings income
: Nil rate

195 @ 0%

0.00

Dividend income
: Nil rate

1,600 @ 0%
0.00

7,045

Tax liability
1,050.00



Notes:
(i)

Taxable income includes non-savings income of more than £5,000.
Therefore the starting rate for savings is not available. However,
taxable income does not exceed the basic rate limit so the PSA is
£1,000. Since savings income is only £195, this is all taxed at the
savings nil rate of 0%.

(i) The dividends of £1,600 fall within the dividend allowance of
£2,000 and are all taxed at the dividend nil rate of 0%.

Scottish taxpayers

For a Scottish taxpayer, the income tax on non-savings income would
be (£2,049 x 19%) +

(£3,201 x 20%) = £1,029.51. This would reduce the total liability by
£20.49. The tax due on savings income and dividends would be
unaffected.
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Allocation of the personal allowance

Section 25 of ITA2007 states that the personal allowancet should be
deducted from total income " in the way which will result in the
greatest reduction in the taxpayer's liability to income tax". Until
recently, the best approach was to deduct the personal allowance first
from non-savings income, then from savings income and finally from
dividends.

However, the problem of identifying the most beneficial way of
allocating the personal allowance has become more complex in
recent years, with the introduction of the personal savings allowance
and the dividend allowance (as well as the starting rate for savings).
A number of points should be borne in mind when making this



allocation: (a) In general, the approach should be to deduct the
personal allowance from income which would otherwise be taxed at
higher rates rather than income which would be taxed at lower rates.

(b) The personal allowance will be wasted if it is deducted from
income which would otherwise be taxed at 0%. This applies to
savings income taxable at the starting rate, savings income within the
PSA and dividends within the dividend allowance.

(c) The income tax liability will be reduced if income taxed at either
the savings nil rate or dividend nil rate is income which would
otherwise be taxed at higher rates rather than lower rates.

T This also applies to other reliefs that are deductible from total
income.

EXAMPLE 10

In 2019-20, Sue (who is not a Scottish taxpayer) has business profits
of £48,650 and bank interest of £2,000. Her personal allowance for
the year is £12,500 and she makes no Gift Aid donations or pension
contributions. Calculate her income tax liability for the year if the
personal allowance is set against non-savings income.

Show how the income tax liability changes if only £11,150 of the
personal allowance is set against non-savings income and the
remaining £1,350 is set against savings income.

Solution
Total
Non-savings
Savings

£

£



£

Business profits
48,650

48,650

Bank interest
2,000

2,000

Total income

50,650

48,650

2,000

Less: Personal allowance
12,500

12,500



Taxable income
38,150

36,150

2,000
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Income tax due

Non-savings income : Basic rate 36,150 @ 20% 7,230.00
Savings income - Nil rate 500 @ 0% 0.00
: Basic rate 850 @ 20% 170.00
: Higher rate 650 @ 40% 260.00

38,150
Tax liability 7,660.00

If only £11,150 of the personal allowance is set against non-savings income and £1,350 is
set against savings income, taxable non-savings income becomes £37,500 and taxable
savings income becomes £650. The tax liability is then (£37,500 x 20%) + (£500 x 0%) +
(£150 x 40%) = £7,560. The tax saving is £100.

With this approach, the savings income of £500 which is taxed at the nil rate is income

which would otherwise be taxed at 40% (not 20%), saving (£500 x (40% — 20%)) = £100.

Summary

»

In general, income tax is chargeable on all of the income of UK residents and on the
UK income of non-residents.

Income is classified into a number of categories, each of which has its own rules for
determining the amount of assessable income in a tax year. However, certain types of
income are specifically exempt from income tax.

To calculate a taxpayer's income tax liability it is necessary to bring together all of
the taxpayer's income into a single computation. The gross equivalent of any income
received net of income tax must be included in the computation.

Husbands, wives and civil partners are assessed to income tax independently.

In 2019-20, the main rates of income tax are the basic rate of 20%, the higher rate of
40% and the additional rate of 45%. Savings income which occupies the first £5,000
of the basic rate band is taxed at the starting rate for savings of 0%.

In 2019-20, basic rate taxpayers are entitled to a personal savings allowance (PSA) of
£1,000. The PSA is £500 for higher rate taxpayers and £nil for additional rate tax-
payers. Savings income falling within the PSA is taxed at the savings nil rate.

In 2019-20, the first £2,000 of dividends included in taxable income are taxed at the
dividend mnil rate. Dividends after the first £2,000 are taxed at 7.5% 1n the basic rate
band, 32.5% in the higher rate band and 38.1% otherwise.

For Scottish taxpayers, the income tax liability on non-savings income is calculated
using different tax rates and limits than elsewhere in the UK.
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Appendix

Definition of a Scottish taxpayer

In general terms, a Scottish taxpayer is an individual who lives in
Scotland. Whether the individual identifies as Scottish is irrelevant.
Nor does it matter whether the individual works in Scotland. This
means that employers elsewhere in the UK must apply Scottish rates
of income tax to any of their employees who live in Scotland (see
Chapter 7).

It will usually be obvious whether or not an individual is a Scottish
taxpayer. But it may be necessary to apply a number of tests in more
complex cases. An individual is treated as a Scottish taxpayer for a
tax year if he or she is UK resident in that year (see Chapter 32) and
satisfies any of the following criteria:

(a) the individual has a "close connection" with Scotland, usually
through having only a single UK place of residence (which is in
Scotland) and living there for at least part of the tax year in question,
or

(b) the individual does not have a close connection with any other
part of the UK and spends more days of the tax year in Scotland than
in any other part of the UK, or (c) the individual is a Scottish
Parliamentarian (e.g. an MP for a Scottish constituency or a member
of the Scottish Parliament).

Note that the status of the individual has to be determined for whole
tax years and it is not possible to be a Scottish taxpayer for only part
of a tax year. Furthermore, it is quite feasible that an individual could
be a Scottish taxpayer in one tax year but not in the next tax year
(e.g. by moving away from Scotland).

Exercises

It should be assumed in all of these exercises that the taxpayer
makes no Gift Aid donations or pension contributions during tax year



2019-20. A set of multiple choice questions for this chapter is
available on the accompanying website.

2.1

Calculate the income tax liability for 2019-20 of a non-Scottish
taxpayer with a taxable income (after deducting any available
personal allowance) of: (a) £1,830

(b) £32,300
(c) £71,833
(d) £320,000.

Assume that none of the income is derived from savings or dividends.
How would these liabilities differ in the case of a Scottish taxpayer?
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Calculate the 2019-20 income tax liability of a non-Scottish taxpayer
with income for the year as follows:

(a) Business profits of £28,105 and bank interest of £720.

(b) Business profits £50,150, building society interest £930 and bank
interest £570.

(c) Net loan interest of £130,604.

Assume a personal allowance of £12,500 in cases (a) and (b) and
£nil in case (c). How would these liabilities differ in the case of
Scottish taxpayers?

2.3



Stephanie (who is not a Scottish taxpayer) has the following income
in 2019-20:

£

Income from self-employment
29,880

Rents received

15,730

Bank interest

200

Dividends

250

Compute Stephanie's income tax liability for the year, assuming that
the rents received are not within the "rent-a-room" scheme and that
Stephanie is entitled to the personal allowance of £12,500. How
would this differ for a Scottish taxpayer?

2.4

Ernest (who is not a Scottish taxpayer) has a retirement pension in
2019-20 of £56,890

and bank interest of £620. His personal allowance for the year is
£12,500. Compute Ernest's income tax liability for the year. What
difference would it make if Ernest had received dividends of £620
instead of the bank interest?

*2.5



Ivan (who is not a Scottish taxpayer) has the following income for tax
year 2019-20:

£

Part-time salary

16,985

Net interest on gilt-edged securities
1,360

Premium bond prize

50

Dividends

15,560

His personal allowance for 2019-20 is £12,500. Compute the income
tax payable by Ivan for the year. How would this differ for a Scottish
taxpayer?

*2.6

Mary's income for tax year 2019-20 consists of business profits of
£26,920, dividends received of £124,460 and rents received of
£3,750. She is not a Scottish taxpayer and her personal allowance for
the year is £nil. Calculate Mary's income tax liability for 2019-20,
assuming that the rents received are not within the "rent-a-room"
scheme.
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Chapter 3
Personal allowances

Introduction

One of the factors which must be taken into account when preparing an income tax
computation is the taxpayer's entitlement to personal allowances. Most taxpayers can
claim only the basic personal allowance but there are extra allowances for blind taxpayers
and for older married couples. The purpose of this chapter is to describe the allowances
that are available in 2019-20 and to explain the way in which each allowance is dealt with
in an income tax computation.

It is important to appreciate that personal allowances are indeed "personal”. If all or part
of a personal allowance cannot be used by the person to whom it is available, then any
unused part of the allowance is generally lost. Excess allowances cannot normally be
transferred to anyone else and cannot be carried back to previous years or forward to
future years. However, some limited provisions exist for transferring allowances between
spouses or civil partners (see later in this chapter).

Personal allowances for 2019-20

The personal allowances for tax year 2019-20 are as follows:

Allowances which are deducted from income £
Personal allowance 12,500
Blind person's allowance 2,450

Allowances which are "tax reducers"
Married couple's allowance:

Born before 6 April 1935 8915
Minimum amount 3,450
Marriage allowance 1,250
Income limit for basic personal allowance 100,000
Income limit for married couple's allowance 29,600

The circumstances in which each of these allowances may be claimed (and the way in
which each allowance is given effect in an income tax computation) are explained below.
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allowances may be claimed by UK residents and by certain non-
residents. The main classes of non-resident who may claim personal
allowances and set these allowances against their UK income are:

(a) nationals of the European Economic Area (EEA), which comprises
all EU states plus Norway, Iceland and Liechtenstein

(b) residents in the Isle of Man or the Channel Islands

(c) persons who used to reside in the UK but now reside abroad for
health reasons (d) Crown servants and ex-Crown servants

(e) widows or widowers of Crown servants (or their surviving civil
partners) (f) missionaries.

The personal allowance (PA)

Anyone who is entitled to claim personal allowances may claim at
least the basic personal allowance. This allowance is deducted from
the taxpayer's income when computing his or her income tax liability.
The basic personal allowance for 2019-20 is £12,50071 but this is
reduced (possibly to zero) if the taxpayer has income exceeding
£100,000 (see below).

The personal allowance is fully available in the tax year in which a
taxpayer is born or dies, apart from being reduced as usual if income
for that year exceeds £100,000.

T The basic personal allowance will remain at £12,500 in tax year
2020-21.

Reduction in the basic personal allowance

The amount of the basic personal allowance for a tax year is reduced
if the taxpayer's

"adjusted net income" for the year exceeds £100,000. Adjusted net
income is defined as the taxpayer's net income less the grossed-up



amount of any Gift Aid donations made during the year (see Chapter
4) and the gross amount of any pension contributions relieved at
source during the year (see Chapter 14).

If adjusted net income exceeds £100,000, the basic personal
allowance is reduced by one-half of the excess. Therefore the
allowance is reduced to zero in 2019-20 if adjusted net income is
£125,000 (£100,000 + (2 x £12,500)) or more.

Note that the gradual withdrawal of the personal allowance means
that a taxpayer with income in the range £100,000 to £125,000 can
be subject to a marginal rate of income tax of 60% ( 671.5% for a
Scottish taxpayer). This surprising result is illustrated below.

EXAMPLE 1

Ben (who is not a Scottish taxpayer) has business profits of £110,520
in 2019-20. He has no other income and makes no Gift Aid donations
or pension contributions. Calculate the amount of his 2019-20
personal allowance and show that a £100 increase in his business
profits would result in a £60 increase in his income tax liability for the
year.
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Solution

Profits £110,520

Profits £110,620

£

£

Business profits



110,520

110,620

Less: Personal allowance (see below)
7,240

7,190

Taxable income
103,280
103,430

Income tax due
£37,500 @ 20%
7,500.00
7,500.00
£65,780 @ 40%
26,312.00
£65,930 @ 40%
26,372.00



Tax liability
33,812.00
33,872.00

Notes:
(i)

With an adjusted net income of £110,520, the personal allowance for
the year is

£7,240 (£12,500 — 1/2 x £10,520). If profits increase by £100,
adjusted net income becomes £110,620 and the personal allowance
is £7,190 (£12,500 — 1/2 x £10,620).

(i) A £100 increase in Ben's business profits causes a £50 reduction
in his personal allowance. So taxable income increases by £150 and
his income tax liability rises by (£33,872 — £33,812) = £60, which is
60% of the £100 increase in income.

(iif) For a Scottish taxpayer, the marginal rate of tax would be 41%
and so the tax liability would rise by (£150 x 41%) = £61.50, which is
61.5% of the increase in income.

Marriage allowance

Subject to certain conditions, an individual may elect to transfer part
of his or her personal allowance to a spouse or civil partner. The
"transferable amount" is equal to 10% of the basic personal



allowance for the year (i.e. £1,250 for tax year 2019-20). If this
amount is not an exact multiple of £10 it is rounded up to the next
multiple of £10. HMRC refers to the transferable amount as the
"marriage allowance", although this term is not used in the legislation.
The main conditions which must be satisfied are as follows: (a) The
transferor is entitled to the basic personal allowance for the year.

(b) Neither the transferor nor the transferee is liable to income tax for
the year at the higher rate, the additional rate, the dividend upper
rate, the dividend additional rate or any Scottish rate above the
intermediate ratet. Furthermore, this will remain the case after the
transfer has been made.

(c) Neither party claims married couple's allowance (MCA) for the
year (see below).

T In general, therefore, a non-Scottish taxpayer may elect to make
this transfer for 2019-20 if his or her total income (and the total
income of the other party) does not exceed £50,000 (£12,500 +

£37,500). But for Scottish taxpayers, this limit is only £43,430
(£12,500 + £30,930).
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allowance election must be made within four years of the end of the
tax year to which it relatest. If such an election is made, the personal
allowance of the transferor is reduced by the transferable amount but
the personal allowance of the spouse or partner is not increased.
Instead, the income tax liability of the spouse or civil partner is
reduced by the transferable amount multiplied by the basic ratef of
income tax (20% for 2019-20). In other words, the marriage
allowance acts as a "tax reducer" (see below).

It is important to note that the marriage allowance is not an extra
allowance. It is merely an opportunity to transfer part of the personal
allowance to a spouse or civil partner. This may be of benefit to



taxpayers with a low income who cannot use the whole of their
personal allowance. It is also important not to confuse the marriage
allowance with the married couple's allowance (MCA) which is
available to older couples (see below).

T A marriage allowance election may be made after one (or both) of
the parties to a marriage or civil partnership has died, either by a
surviving spouse or civil partner or by the personal representatives of
a deceased spouse or civil partner.

T In the case of Scottish taxpayers, the tax reduction is calculated at
the Scottish basic rate.

EXAMPLE 2

In 2019-20, a husband has a pension of £11,290 and his wife has a
pension of £20,000.

They have no other income and they are not Scottish taxpayers.
Calculate the combined tax liability of the couple for the year if:

(a) no marriage allowance election is made

(b) the husband elects to transfer part of his personal allowance to his
wife.

Solution

(a) The husband's income is exceeded by his personal allowance of
£12,500 so his tax liability is £nil. His wife's liability is (£20,000 —
£12,500) x 20% = £1,500.

(b)

Husband

Wife

£



£

Total income

11,290

20,000

Less: PA (Husband £12,500 — £1,250)
11,250

12,500

Taxable income
40
7,500

Income tax at 20%

8.00

1,500.00

Less: Marriage allowance £1,250 @ 20%
250.00



Tax liability
8.00
1,250.00

The combined tax liability is £1,258, a saving of £242. For Scottish
taxpayers, the first

£2,049 of taxable income would be taxed at the starter rate of 19%.
Therefore the wife's tax liability would be £20.49 lower both before
and after the transfer and the husband's liability after the transfer
would be £7.60, giving a tax saving of £242.40 .
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person's allowance (BPA)

The blind person's allowance (£2,450 in 2019-20) may be claimed by
registered blind persons. This allowance is deducted from income
and is given in full in the tax year in which the taxpayer is first
registered as a blind person.

Any unused part of the BPA can be transferred to the taxpayer's
spouse or civil partner, even if that spouse or partner is not a
registered blind person.

Tax reducers

The personal allowance and the blind person's allowance are
deducted from income when calculating taxable income. By contrast,
the "marriage allowance" (see above) acts as a



"tax reducer". The transferred allowance is ignored until the amount
of tax due on the spouse or civil partner's income has been calculated
but then this liability is reduced by 20% of the transferred amount.
Similarly, the married couple's allowance (the only other allowance
available in 2019-20) is a tax reducer. If MCA is claimed, the
taxpayer's income tax liability is reduced by 10% of the amount of the
allowance. Note that: (a) Certain payments and some types of
investments made by a taxpayer also act as tax reducers (see
Chapters 4 and 6).

(b) The amount of tax borne can never be reduced to less than zero
as a result of the tax reduction process. If available tax reductions
exceed the tax due on taxable income, there is no repayment of the
excess. Any unused part of a tax reduction is generally lost. However,
the tax reduction relating to the MCA may be transferred between
spouses or civil partners in certain cases (see below).

Married couple's allowance (MCA)

The married couple's allowance is available to a legally married
couple who live together for at least part of the tax year, so long as at
least one of the spouses was born before 6

April 1935. MCA is also available to civil partners, so long as at least
one of the partners was born before 6 April 1935. Note the following
points:

(a) MCA is not available to a couple who are separated for the whole
of the tax year.

(b) The amount of the MCA for 2019-20 is £8,915, giving a maximum
tax reduction of

£891.50 (£8,915 @ 10%).

(c) For couples who were married before 5 December 2005, MCA is
generally claimed by the husband. However, the couple may elect
that the MCA should instead be claimed by the spouse with the
higher net income. Such an election must be made before the start of



the first tax year in which it is to have effect and then applies to all
subsequent tax years. The election is irrevocable.
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who marry on or after 5 December 2005 (and for civil partners) the
MCA is claimed by the spouse or partner with the higher net income.

(e) The MCA is reduced if the claimant's adjusted net income
exceeds a specified limit (£29,600 in 2019-20). If adjusted net income
exceeds this limit, the MCA is reduced by one-half of the excess. But
the MCA is never reduced to less than a specified minimum amount
(£3,450 in 2019-20).

It is noteworthy that the other spouse's (or other partner's) income is
not taken into account for this purpose, even if the MCA is available

because of that spouse's or partner's age rather than because of the
claimant's age.

EXAMPLE 3

Calculate the MCA available for 2019-20 in the following situations:
Husband

Wife

(a) Born 5 July 1938, income £19,100

Born 1 March 1935, income £12,450.

(b) Born 3 May 1933, income £29,710

Born 7 September 1938, income £nil.

(c) Born 4 June 1934, income £41,080

Born 8 October 1939, income £13,950.



(d) Born 16 November 1939, income £nil
Born 9 July 1934, income £49,300.

In each case, MCA is claimed and the stated income figure is the
adjusted net income. All of the couples were married before 5
December 2005 and none of them have elected that MCA should be
claimed by the spouse with the higher net income.

Solution

(a) The husband is entitled to an MCA of £8,915 because his wife
was born before 6

April 1935. The MCA is available in full because his income does not
exceed the

£29,600 limit.

(b) The husband is entitled to the MCA because he was born before 6
April 1935. But his income exceeds £29,600 by £110, so the MCA is
reduced by £55 (1/2 x £110) to

£8,860 (£8,915 — £55).

(c) The husband is entitled to the MCA because he was born before 6
April 1935. His income exceeds £29,600 by £11,480. A reduction of
£5,740 (1/2 x £11,480) would give an MCA of only £3,175 (£8,915 —
£5,740) but the MCA is never reduced to less than the minimum
amount of £3,450. Therefore an MCA of £3,450 is available.

(d) The husband is entitled to an MCA of £8,915 because his wife
was born before 6

April 1935. His income does not exceed the £29,600 limit so the MCA
is available in full. Because the husband is the claimant, his wife's
income is not taken into account at all when calculating the MCA,
even though (in this case) the MCA is available only by virtue of her
age (not his).



43
PART1:IncomeTaxandNationallnsurance
Allocation of the MCA

The tax reduction relating to the MCA is normally set against the tax
liability of the claimant, but note that:

(a) The couple may elect jointly that the tax reduction relating to the
MCA minimum amount (£3,450 for 2019-20) should be set against
the tax liability of the claimant's spouse or civil partner.

(b) The claimant's spouse or civil partner may elect unilaterally that
the tax reduction relating to 50% of the MCA minimum amount
(£1,725 for 2019-20) should be set against his or her tax liability.

(c) If either spouse or partner is unable to use their MCA-related tax
reduction in full or in part, the unused part may be transferred to the
other spouse or partner.

The elections described in (a) and (b) must normally be made before
the start of the tax year to which they relate, but they can be made
during the tax year if this is the year of marriage or the year in which
a civil partnership is registered. If either of these elections is made,
any remaining part of the MCA is dealt with in the claimant's tax
computation.

The transfer described in (c) must be claimed within four years of the
end of the tax year to which it relates.

Year of marriage and year of separation or death

In the tax year in which a marriage occurs or a civil partnership is
registered, MCA is calculated as usual but is then reduced by 1/12th
for each full tax month which elapses between the start of the year
and the date of the marriage or registration. A tax month runs from
the 6th of one month to the 5th of the next month. An election to
transfer all or 50%



of the MCA minimum amount to the claimant's spouse or partner in
the year of marriage or registration applies to that amount reduced in
the same proportion as the MCA itself.

MCA is available in full in the tax year in which a couple separate or
in which one of them dies (subject to the usual restriction if the
claimant's income exceeds the limit).

EXAMPLE 4

Calculate the MCA available in 2019-20 to a husband and wife (both
born in August 1934) who each have an adjusted net income not
exceeding £29,600 and who marry on: (a) 23 June 2019

(b) 4 April 2020
Solution

(a) Two full tax months have passed since the start of the tax year (6
April 2019 to 5 May 2019 and 6 May 2019 to 5 June 2019). So the
MCA is £8,915 x 10/12 = £7,429.

(b) The MCA is £8,915 x 1/12 = £743.
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Calculate the income tax liability for 2019-20 of a husband and wife
(both born in March 1935) given the information shown below. In

each case, an election has been made for 50% of the tax reduction
relating to the MCA minimum amount to be set against the tax liability
of the claimant's spouse. They are not Scottish taxpayers and none of
their income is derived from savings or dividends.

(a) Married July 1960; husband's income £29,660, wife's income
£23,250.



(b) Married 1 October 2019; husband's income £21,625, wife's
income £17,695.

(c) Married July 1960 but husband dies on 12 October 2019;
husband's income £15,085, wife's income £24,255. The couple have
not elected that MCA should be claimed by the spouse with the
higher net income.

In each case, the stated income figure is the taxpayer's net income
(i.e. total income less tax reliefs) and adjusted net income is the same
as net income.

Solution

£

HUSBAND

Net income

29,660

21,625

15,085

Less: Personal allowance

12,500



12,500
12,500

Taxable income
17,160

9,125

2,585

Income tax due @ 20%
3,432.00

1,825.00

517.00

Less: MCA £7,160 @ 10%
716.00

MCA £4,194 @ 10%
419.40



MCA £7,190 @ 10% = £719.00
517.00

Tax liability
2,716.00
1,405.60

nil

WIFE

Net income

23,250

17,695

24,255

Less: Personal allowance
12,500

12,500



12,500

Taxable income
10,750

5,195

11,755

Income tax due @ 20%
2,150.00

1,039.00

2,351.00

Less: MCA £1,725 @ 10%
172.50

MCA £1,006 @ 10%

100.60

MCA £1,725 @ 10% + £202.00



374.50

Tax liability
1,977.50
938.40
1,976.50
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Notes:

U]

(i)

(i)

In case (a), the husband's income is £60 over the income limit, so the MCA is
reduced to £8,885 (£8,915 — 1/2 x £60). MCA of £1,725 (one-half of the minimum
amount) is claimed by the wife, leaving £7,160 for the husband.

For Scottish taxpayers, his tax liability would be (£2,049 x 19%) + (£10,395 x 20%) +
(£4,716 x 21%) less MCA £716.00 = £2,742.67. Her liability would fall by £20.49.

In case (b), the available MCA is 7/12 x £8,915 = £5,200. The wife claims 7/12 x
£1,725 = £1,008, leaving £4,194 for the husband.

For Scottish taxpayers, the tax liability of each spouse would be £20.49 lower.

In case (c), the MCA is available in full in the year of the husband's death. £1,725 is
claimed by the wife, leaving £7,190 for the husband. The tax reduction that he cannot
use (£202.00) is transferred to his wife.

For Scottish taxpayers, his liability (before MCA) would be £20.49 lower so he would

use only £496.51 of the MCA, transferring £222.49 to his wife. Her tax liability (before
MCA) would also fall by £20.49, so her final liability would be £40.98 lower.

Summary

4
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UK residents and certain non-residents are entitled to claim at least the basic personal
allowance. But this allowance is reduced (possibly to zero) if the taxpayer's adjusted
net income for the year exceeds £100,000.

Subject to conditions, an individual may transfer 10% of the basic personal allowance
to a spouse or civil partner. The tax liability of the transferee is reduced by 20% of
the amount transferred.

The blind person's allowance is granted to registered blind persons. Any unused part
of this allowance can be transferred to the person's spouse or civil partner.

The married couple's allowance is available to a legally married couple who live
together for at least part of the tax year, so long as at least one of the spouses was
born before 6 April 1935. MCA is also available to civil partners.

MCA is reduced if the claimant's adjusted net income exceeds a specified limit. But
the MCA is never reduced to less than a specified minimum amount.

In certain circumstances, all or part of the MCA may be transferred to the claimant's
spouse or partner if an appropriate claim or election is made.

The personal allowance and the blind person's allowance are deducted from the
taxpayer's net income when computing taxable income. The MCA reduces tax borne
by 10% of the amount of the allowance.

Personal allowances which cannot be used in the tax year to which they relate are
lost. There is no provision for carrying unused allowances backwards or forwards.

CHAPTER3:PersonalAllowancesExercises



It should be assumed in these exercises that the taxpayers
concerned made no Gift Aid donations or pension contributions
during tax year 2019-20. It may also be assumed that the taxpayers
are not Scottish taxpayers. However, an alternative solution is
provided (where necessary) to indicate how the income tax liability
would differ for a Scottish taxpayer.

A set of multiple choice questions for this chapter is available on the
accompanying website.

3.1

Calculate the basic personal allowance available in 2019-20 to a
taxpayer with adjusted net income of:

(a) £90,000

(b) £108,000

(c) £140,000.

3.2

Pamela's salary in 2019-20 is £105,000. She has no other income.
(a) Calculate her income tax liability for 2019-20.

(b) Re-calculate her income tax liability as it would have been if her
salary for the year had been £25,000 higher.

(c) Explain how the difference between these two tax liabilities arises.
3.3

Calculate the married couple's allowance available to the following
couples in 2019-20, assuming that they were married before 5
December 2005 and that they have not elected for MCA to be
claimed by the spouse with the higher net income: (a) Husband born
1931, income £19,900; wife born 1932, income £29,500



(b) Husband born 1929, income £29,640; wife born 1934, income
£10,070

(c) Husband born 1934, income £36,000; wife born 1939, income
£20,000

(d) Husband born 1936, income £18,600; wife born 1933, income
£46,700.

In each case, the stated income figure is the adjusted net income.
3.4

Calculate the tax liability for 2019-20 of a husband and wife (both
born in 1933), using the information below. No elections have been
made in relation to the MCA and none of the income is derived from
savings or dividends.

(a) Married in 1956; husband's income £19,140, wife's income
£20,440

(b) Married 17 August 2019; husband's income £9,500, wife's income
£16,375

(c) Married in 1956 but husband dies on 16 September 2019;
husband's income to date of death £12,835, wife's income for the
year £20,305.

In each case, the stated income figure is the taxpayer's net income
(i.e. total income less tax reliefs), MCA is claimed and adjusted net
income is the same as net income.
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Toby is a widower. He was born in August 1933. His wife was born in
June 1934 but she died in March 2019. Toby's income for 2019-20 is
as follows:



£

Retirement pension

11,480

Income from purchased life annuity (net)

912

Calculate the amount of income tax repayable to Toby for 2019-20.
3.6

Brian and Danny are civil partners. They were both born in 1976.
Brian's total income for 2019-20 is £30,000 and Danny's total income
for the year is £10,000. None of their income is derived from savings
or dividends.

(a) Calculate their income tax liabilities if Danny does not make an
election to transfer part of his personal allowance to Brian.

(b) Calculate their income tax liabilities if Danny does make the
election.

(c) How would the situation change if Brian's total income were
£60,0007?

3.7

Richard was born on 5 April 1935. His wife, Patricia, was born on 7
October 1938. They were married in 1968. Their income for tax year
2019-20 is as follows:

£
Richard:

Business profits



33,610

Patricia:

Dividends received

3,600

Calculate their income tax liabilities for 2019-20.
*3.8

A married man (born 3 November 1934) died on 8 July 2019. He
received a retirement pension of £14,930 between 6 April 2019 and
the date of his death. His wife (born 12

August 1940) had no income whilst her husband was alive but
received a pension of

£19,885 between 8 July 2019 and 5 April 2020. They were married in
1970 and made no elections in relation to the married couple's
allowance.

Calculate their income tax liabilities for 2019-20.
*3.9

Bill was born in 1980. He is married to Hazel who was born in 1984.
In 2019-20, Bill had business profits of £52,550 and received
dividends of £2,200. Hazel received a salary of £220,570 and bank
interest of £3,040.

Calculate their income tax liabilities for the year.
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Chapter 4

Payments and gifts eligible for
tax relief

Introduction

Certain payments and gifts made by a taxpayer are eligible for tax relief. Some of these are
subtracted from the taxpayer's total income when computing his or her tax Liability. Others
act as tax reducers and are relieved by reducing the amount of tax payable on the tax-
payer's taxable income. A special tax regime applies to charitable donations which fall
within the "Gift Aid" scheme.

The purpose of this chapter is to identify the main types of payments and gifts which
attract tax relief in these ways and to explain how relief is given for each. However, this
chapter does not deal with:

(a) payments and gifts which are deductible when computing a taxpayer's income from
either employment (see Chapter 7) or self-employment (see Chapter 9)

(b) pension contributions (see Chapter 14).

Payments and gifts deductible from total income

The following payments and gifts are deductible from a taxpayer's total income for the tax
year in which the payment or gift is made:

(a) eligible interest payments

(b) certain "annual payments"

(c) gifts of listed shares or securities to a charity
(d) gifts of land or buildings to a charity.

Each of these is explained later in this chapter. As indicated in Chapter 2, the income
which remains after these items (and certain other reliefs) have been subtracted from total
income is referred to by Income Tax Act 2007 as the taxpayer's "net income".

Tax relief for these payments and gifts is given at "marginal rate" (i.e. at the highest rates
of income tax to which the taxpayer is liable). Deducting them from total income will
automatically give the right amount of relief, since the effect of the deduction is to reduce

the amount of taxable income which falls into the upper tax bands.
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Payments made gross or net

Most of the payments which are deductible from total income are
made gross (without deduction of income tax). However, certain
payments are required by law to be paid net, after deduction of basic
rate income tax (see later in this chapter).

Payments made gross are deducted from the taxpayer's total income
when computing his or her income tax liability, but it is tempting to
ignore any payments made net since the taxpayer has already taken
tax relief at source. However, the tax deducted at source is always
calculated at the basic rate (20% for 2019-20) and this will not give
the right amount of relief to a taxpayer whose highest rate of tax is
not the basic rate. The only way to be sure that the right amount of
tax relief is given for a payment made net is to: (a) calculate the gross
amount of the payment (net payment x 100/80) (b) subtract the gross
figure from the taxpayer's total income (c) increase the taxpayer's
income tax liability by the amount of basic rate tax which was
deducted from the payment when it was made.

In effect, the person making the payment is regarded as having
collected basic rate income tax from the recipient on behalf of HM
Revenue and Customs and must therefore account to HMRC for this
tax as part of his or her income tax liability. Note the following points:
(a) This treatment of payments made net of tax is entirely consistent
with the treatment of income received net of tax (see Chapter 2).
Income received net is shown gross in the taxpayer's income tax
computation and the amount of tax deducted at source is subtracted
when calculating tax payable. Similarly, payments made net are
shown gross in the taxpayer's income tax computation and the
amount of tax deducted at source is added when calculating tax
payable.

(b) Basic rate tax must be deducted at source from certain payments
which are allowable when computing a taxpayer's income from self-
employment (see Chapter 9). In this case, to ensure that tax relief is
not given twice, these payments are not also deducted from total
income. However, the amount of tax deducted at source must still be



accounted for to HMRC and this is achieved by adding this amount to
the taxpayer's income tax liability for the year.

EXAMPLE 1

(a) Bob (who is not a Scottish taxpayer) has total income of £22,445
in 2019-20. None of his income is derived from savings or dividends.
During the year he makes a payment which is deductible from total
income of £200 (paid gross).

(b) Cathy's circumstances are precisely the same as Bob's except
that her payment is required by law to be made net of basic rate tax,
so she pays a net amount of £160.

Compute Bob and Cathy's income tax liabilities for 2019-20. Does it
seem to make any difference whether a deductible payment is made
gross or net?
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Solution
Bob

Cathy

£

£

Total income
22,445
22,445



Less: Payment

200

Payment £160 x 100/80
200

Net income

22,245

22,245

Less: Personal allowance
12,500

12,500

Taxable income
9,745
9,745

Income tax



£9,745 @ 20%
1,949.00
£9,745 @ 20%
1,949.00

Tax borne

1,949.00

1,949.00

Add: Tax deducted from payment
0.00

40.00

Tax liability
1,949.00
1,989.00

Bob has made a payment of £200 and has a tax liability of £1,949.00,
a total of £2,149.00.



Cathy has made a payment of £160 and has a tax liability of
£1,989.00, again a total of

£2,149.00. Apart from the timing of the cash flows involved, it makes
no difference whether a deductible payment is made gross or net and
this is evidenced by the fact that tax borne is the same for both
taxpayers.

For Scottish taxpayers, the first £2,049 of taxable income would be
taxed at 19%, reducing tax borne and the liability by £20.49 in each
case.

Taxpayers whose marginal rate is higher than the basic rate

If a taxpayer is chargeable to income tax at a rate above the basic
rate, a payment or gift which is deductible from total income wiill
effectively cost the taxpayer less than it would cost a basic rate
taxpayer. This is because tax relief is given at marginal rate. The
method of computation described above will ensure that the correct
amount of tax relief is given.

EXAMPLE 2

Derek's total income for 2019-20 is £68,310 (entirely non-savings)
and he makes a gross deductible payment of £3,000 in the year. He
is not a Scottish taxpayer and he makes no Gift Aid donations or
pension contributions. Show his income tax computation: (a) with the
deductible payment

(b) as it would have been without the payment.

How much has the payment effectively cost him? How much would it
have cost him if his total income for the year had been £168,3107?
And in what ways would the situation have differed if his total income
for the year had been £115,0007?
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Solution
Income £68,310
Income £168,310
(a)

(b)

(a)

(b)

£

£

£

£

Total income
68,310

68,310

168,310
168,310

Less: Payment
3,000

3,000



Net income

65,310

68,310

165,310

168,310

Less: Personal allowance
12,500

12,500

0

0

Taxable income
52,810
55,810



165,310
168,310

Income tax
37,500
37,500
@ 20%
7,500.00
7,500.00
15,310
18,310
@ 40%
6,124.00
7,324.00

52,810



55,810

37,500
37,500

@ 20%

7,500.00

7,500.00

112,500

112,500

@ 40%

45,000.00 45,000.00
15,310

18,310

@ 45%

6,889.50

8,239.50

165,310



168,310

Tax liability
13,624.00 14,824.00
59,389.50 60,739.50

Notes:
(i)

With total income of £68,310, Derek's income tax liability for the year
is reduced by

£1,200 if he makes the £3,000 payment, so in fact it costs him only
£1,800. In effect, tax relief has been given at 40%, which is Derek's
highest rate of tax.



(i) With total income of £168,310, Derek's tax liability is reduced by
£1,350 if he makes the £3,000 payment, so it now costs him only
£1,650. Tax relief has been given at 45%, which is Derek's highest
rate of tax. The personal allowance is zero in this case because
adjusted net income greatly exceeds £100,000 (see Chapter 3).

(iif) With total income of £115,000, the £3,000 payment reduces
Derek's net income to

£112,000 so his PA is £6,500 (£12,500 — 1/2 x £12,000). Without the
payment, the PA is only £5,000 (£12,500 — 1/2 x £15,000). So the
combination of the £3,000

payment and the extra PA of £1,500 reduces taxable income by
£4,500.

Since marginal rate in this case is 40%, tax saved is £1,800 (40% of
£4,500). A tax saving of £1,800 on a payment of £3,000 amounts to
an effective rate of tax relief of 60%. This exceptionally high rate of
relief will always occur in 2019-20 if adjusted net income lies between
£100,000 and £125,000 (see Chapter 3).

For a Scottish taxpayer with income of £68,310, tax relief on the
£3,000 payment would be (£3,000 x 41%) = £1,230. With income of
£168,310, tax relief would be (£3,000 x 46%) =

£1,380. With income of £115,000, the effective rate of relief would be
61.5% and tax relief on the payment would be (£3,000 x 61.5%) =
£1,845 (see Chapter 3).
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Taxpayers with marginal rate less than basic rate (and non-
taxpayers)



Since tax relief on deductible payments and gifts is given at marginal
rate, a taxpayer whose highest rate of tax is lower than basic rate will
be entitled to less tax relief on such payments and gifts than a basic
rate taxpayer. Similarly, a non-taxpayer or a taxpayer whose highest
rate of tax is either the starting rate for savings, the savings nil rate or
the dividend nil rate (all of which are 0% in 2019-20) is not entitled to
any tax relief at all. But the method described above will ensure that
tax relief (if any) is given at the correct rate.

EXAMPLE 3

Esmé receives dividends of £15,150 in tax year 2019-20 and has no
other income for tax purposes. She makes a gross deductible
payment of £100 during the year. Calculate Esmé's income tax
liability for 2019-20:

(a) with the deductible payment
(b) as it would have been without the payment.

How would the situation differ if her dividend income had been £1,000
lower?

Solution
Dividends £15,150
Dividends £14,150



£

£

Dividends received
15,150

15,150

14,150

14,150

Less: Payment
100

100

Net income
15,050
15,150
14,050
14,150



Less: Personal allowance
12,500
12,500
12,500
12,500

Taxable income
2,550
2,650
1,550
1,650

Income tax

2,000



2,000
@ 0%
0.00
0.00
550

650

@ 7.5%
41.25
48.75

2,550
2,650

1,550
1,650
@ 0%
0.00
0.00



Tax liability
41.25
48.75

0.00

0.00

With dividends of £15,150, Esmé's highest rate of tax is the dividend
ordinary rate. If she makes the payment, her tax liability is reduced by
£7.50 (7.5% of £100 = £7.50).

(i) With dividends of £14,150, Esmé's highest rate of tax is the
dividend nil rate and her tax liability is zero with or without the



payment. She is entitled to tax relief at 0% (i.e.
no tax relief at all) and so the payment costs her the full £100.
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The interest paid on certain loans is deductible from a taxpayer's total
income. This interest is generally paid gross. The main types of
eligible loan are: (a) A loan to purchase plant or machinery which is
necessarily acquired for use in the taxpayer's employment. Interest
on such a loan is eligible for relief in the tax year in which the loan is
taken out and the next three years. This relief is not available in
relation to the purchase of a mechanically propelled vehicle or a
cycle.

(b) A loan to purchase plant or machinery for use in the business of a
partnership in which the taxpayer is a partner. Interest on such a loan
is eligible for tax relief if it is paid no later than three years after the
end of the period of account in which the loan was made.

(c) A loan to purchase ordinary shares in a close company (see
Chapter 27), so long as the taxpayer owns at least 5% of the
company's ordinary share capital or works for the greater part of his
or her time in the management of the company.

This relief also applies to the purchase of shares in companies which
are resident in the European Economic Area (EEA) and which would
have been regarded as close companies if they had been resident in
the UK.

(d) A loan to purchase shares in an employee-controlled company
that is resident in the UK or elsewhere in the EEA, or to purchase an
interest in a partnership.

(e) A loan to pay inheritance tax. The interest on such a loan is
eligible for tax relief if it relates to a period ending within 12 months of



the date that the loan was made.

Note that interest which is paid wholly and exclusively for business
purposes is treated as a business expense and is deducted when
calculating the business profits charged to income tax as trading
income (see Chapter 9). In this case, the interest is not deductible
from total income.

Limit on income tax reliefs

Finance Act 2013 introduced a limit on the amount of tax relief that
may be deducted from a taxpayer's total income when calculating his
or her net income. This limit applies only to certain types of tax relief
and is mainly concerned with reliefs available in relation to trading
losses (see Chapter 12). However, the eligible interest payments
listed above also fall within the scope of this rule.

In general terms, the total of the reliefs to which the limit applies
cannot exceed the greater of £50,000 and 25% of the taxpayer's total
income. A more detailed explanation of the limit on income tax reliefs
is given in Chapter 12 of this book.
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ITA 2007 requires that certain "annual payments" made by an
individual should be made net of basic rate income tax. One example
of this is the payment of royalties to a person who holds intellectual
property as an investment. Tax relief on a qualifying annual payment
may be obtained in one of two ways. Either:

(a) the gross amount of the payment may be deductible when
calculating the taxpayer's trading profits for income tax purposes (see
Chapter 9), or (b) if the payment is not deductible when calculating
trading profits, the gross amount of the payment is relieved instead by
deduction from the taxpayer's total incomet-.



In either case, the amount of tax deducted at source from the
payment must be accounted for to HMRC by being added to the
taxpayer's income tax liability for the year concerned.

T Patent royalties can no longer be relieved by deduction from total
income. So if patent royalties are not deductible when calculating
trading profits, they will not be relieved at all.

Gifts of shares or property to charity

A gift of listed shares or securities made to a charity attracts tax relief
in the same way as a deductible payment. The amount of the gift is
taken to be the market value of the shares on the date of the gift, plus
any incidental costs borne by the donor and less the value of any
benefits received by the donor in consequence of making the gift.
Gifts of land or buildings to a charity are also eligible for relief.

This income tax relief is in addition to the relief from capital gains tax
which arises when assets are given to charities (see Chapter 17).

EXAMPLE 4

In 2019-20, a taxpayer who pays income tax at 45% and capital gains
tax at 20% gives listed shares worth £20,000 to a charity. There are
no costs of disposal and the taxpayer receives no benefit from
making the gift. A capital gain of £12,000 would have arisen if the
shares had been sold. In effect, how much does this gift cost the
taxpayer?

Solution

Assuming that 45% income tax would have been paid on at least
£20,000 of taxable income if the gift had not been made, income tax
saved is £9,000 (45% of £20,000). CGT

of £2,400 (20% of £12,000) is also saved. The total tax saving is
£11,400. This amounts to tax relief at a total rate of 57% and the gift
has effectively cost the taxpayer only £8,600.



For a Scottish taxpayer, income tax relief would be (£20,000 x 46%)
= £9,200, so the total tax saving would be £11,600 and the effective
cost of the gift would be £8,400.
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The following payments are granted tax relief by means of a
reduction in the income tax liability of the taxpayer who makes the
payment:

(a) certain alimony or maintenance payments (as long as either the
payer or the recipient was born before 6 April 1935)

(b) interest on a loan secured on the taxpayer's main residence and
used to purchase a life annuity (so long as the loan was taken out
before 9 March 1999).

If such a payment is made gross, a tax reduction at the relevant rate
(see below) is given in the payer's income tax computation. This tax
reduction takes priority over tax reductions for the marriage allowance
or the married couple's allowance (see Chapter 3). No refund is
available if available tax reductions exceed the tax due on the payer's
taxable income.

If such a payment is made net, it should be entirely omitted from the
taxpayer's income tax computation, since precisely the right amount
of tax relief has already been given at source and there is nothing
more to be done.

Maintenance payments
Maintenance payments consist of periodical payments made:

(a) by one of the parties to a marriage or civil partnership (or a former
marriage or civil partnership) for the maintenance of the other party,
at a time when: (i) the couple are no longer living together, and



(ii) the party for whose benefit the payment is made has not entered
into a new marriage (or civil partnership)

(b) by one parent of a child to the other parent, made for the child's
maintenance and at a time when the two parents are not living
together.

Tax relief is available to a person who makes maintenance payments
if at least one of the parties or parents was born before 6 April 1935
and the payments are made under either a court order, a legally
binding agreement or an assessment made under the Child Support
Act 1991. The income tax regime which applies to such payments is
as follows: (a) Maintenance payments are made gross, without any
deduction of tax at source.

(b) In 2019-20, a taxpayer making qualifying maintenance payments
is entitled to a tax reduction equal to 10% of the lower of:

(i) the payments made by the taxpayer which fall due in the tax year,
and (ii) the minimum married couple's allowance (£3,450).

(c) The recipient of maintenance payments is not liable to pay income
tax on them.
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Tax relief is availablet in relation to the interest paid on the first
£30,000 of a loan taken out before 9 March 1999 and which was:

(a) made to a taxpayer aged 65 or over at the time that the loan was
made, and (b) used to purchase a life annuity, and

(c) secured on the taxpayer's main residence.

Such arrangements are often referred to as home income plans.



Tax relief takes the form of a tax reduction equal to 23% of the
qualifying interest. This rate of relief remains at 23% (the basic rate of
income tax for tax year 1998-99) even though the basic rate has now
fallen to only 20%. If the interest is paid gross, relief is given in the
payer's tax computation. If the interest is paid net it should be entirely
omitted from the payer's tax computation, as explained above.

T The Government has decided not to withdraw this tax relief from 6
April 2019 (as had originally been intended).

Gifts of pre-eminent property to the nation

Subject to certain conditions, an individual who makes a gift of "pre-
eminent property" to the nation (e.g. a work of art) is entitled to a total
tax reduction equal to 30% of the value of that property. This total tax
reduction may be split across the tax year in which the gift is made
and the following four tax years in any way that the individual wishes.
For instance, the total tax reduction of £300,000 relating to a gift with
an agreed value of £1m made in tax year 2019-20 could be allocated
as follows:

(a) the entire £300,000 could be allocated to 2019-20, or

(b) £60,000 could be allocated to each tax year from 2019-20 to
2023-24 inclusive, or (c) the £300,000 could be allocated to the five
tax years in any other way at all (including a nil allocation in some
years).

The tax reduction allocated to a tax year is normally set first against
the individual's income tax liability for that year. If this liability is less
than the tax reduction, the balance is then set against the individual's
capital gains tax liabilityt for the year. However, the individual may
choose to reverse this order if he or she so wishes.

Note that a similar tax relief is available to companies which make a
gift of pre-eminent property to the nation (see Chapter 23).

T A qualifying gift of pre-eminent property to the nation is exempt
from capital gains tax and so does not itself result in a CGT liability



(see Chapter 17). However, such a liability might arise as a
consequence of other disposals made by the individual during the tax
year.
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Aid

The Gift Aid scheme provides a tax incentive for individuals and
companies to make charitable donations. The way in which the
scheme applies to individuals is explained here. The way in which the
scheme applies to companies is explained in Chapter 23.

This scheme applies to any charitable donation (including donations
made to community amateur sports clubs) so long as:

(a) The donor is a UK resident or a non-resident with income or gains
charged to UK tax.

(b) The donation takes the form of a gift of money and this gift is not
repayable to the donor, is not covered by the payroll giving scheme
(see Chapter 7) and is not deductible when computing the donor's
income from any source.

(c) The donor receives no benefit at all from making the gift, or
receives a benefit which does not exceed the following limits:

(i) for a gift which does not exceed £100, 25% of the amount of the
gift (ii) for a gift which exceeds £100, the sum of £25 and 5% of the
amount by which the gift exceeds £100

subject to a limit of £2,500 on the value of the benefits which the
donor may receive in any one tax year as a consequence of
donations to any one charity.

(d) The donor makes a Gift Aid declaration with regard to the
donation.



If these conditions are satisfied, the gift is treated as if made net of
basic rate tax and the charity can recover the tax deemed to have
been deducted at source. For instance, a £20

gift would be treated as a gross gift of £25 (£20 x 100/80) less tax
deducted of £5. In this case, the charity would receive £20 from the
donor and a further £5 from HMRC.

Gift Aid relief for donors
The following provisions apply:

(a) The donor must pay income tax and capital gains tax equal to at
least the amount of tax deemed to have been deducted from the gift.
If this is not the case, the donor's personal allowance is restricted to
ensure that sufficient tax is paid. If this restriction does not give the
required result, the donor is charged to income tax at the basic rate
on as much of the gift as necessary to ensure that the required
amount of tax is paid.

(b) The donor's basic rate and higher rate limits are both increased by
the gross amount of the gift, so giving further relief to higher rate and
additional rate taxpayerst.

T For Scottish taxpayers, the intermediate rate limit is also increased.
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Carry-back of Gift Aid relief

The donor may elect that a Gift Aid donation should be treated as if
paid in the previous tax year. Such an election must be made by the
date that the tax return for the previous tax year is submitted and no
later than the 31 January which follows the end of that year.

EXAMPLE 5



In 2019-20, Owen (who is not a Scottish taxpayer) makes qualifying
Gift Aid donations totalling £760. He has no capital gains tax liability
for the year. Show his income tax computation if his only income for
the year consists of business profits of: (a) £28,825

(b) £12,715

(c) £246,590.
Solution

(a)

(b)

(c)

£

£

£

Business profits
28,825

12,715

246,590

Less: Personal allowance
12,500

11,765

0



Taxable income
16,325

950

246,590

Income tax

38,450
@ 20%
3,265.00
190.00
7,690.00



112,500
@ 40%
45,000.00
95,640
@ 45%
43,038.00

16,325
950
246,590

Tax liability
3,265.00



190.00
95,728.00

Notes:

(i)

Gross donations are £950 (£760 x 100/80). Deemed tax deducted is
£190.

(ii) In case (a), the tax liability exceeds £190 so there is no more to be
done.

(i) In case (b), the tax liability will be only £43 if the full personal
allowance is given i.e.

(£12,715 - £12,500) = £215 x 20% = £43. So Owen must pay further
income tax of (£190 — £43) = £147. This is achieved by reducing his
PA by £735 to £11,765.

(iv) In case (c), the basic rate and higher rate limits are both
increased by £950. This moves £950 of taxable income from
additional rate to basic rate and saves tax of

£237.50 (£950 x 25%). The charity receives £950 but the cost to
Owen is only

£522.50 (£760 — £237.50). Total tax relief is therefore £427.50 (i.e.
£950 x 45%).

For a Scottish taxpayer, the tax liability in (a) would be (£2,049 x
19%) + (£10,395 x 20%)



+ (£3,881 x 21%) = £3,283.32. In (b), the PA would be restricted to
£11,715, giving a tax liability of (£1,000 x 19%) = £190. In (c), the
basic rate, intermediate rate and higher rate limits would all increase
by £950, moving £950 of taxable income from top rate to basic rate
and saving tax of £247 (£950 x 26%).
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PART 1: Income Tax and National Insurance

Summary

4

Certain payments and gifts made by a taxpayer are either deducted from total income
or act as tax reducers. Payments which are deducted from total income must always
be shown gross in the income tax computation. Any tax which was deducted when
the payment was made is added to the tax liability of the payer.

» If a payment which ranks as a tax reducer is made gross, the appropriate tax reduction
is given in the payer's tax computation. But payments of this type that are made net
should be omitted from the computation entirely.

» The main deductible payments are eligible interest payments and certain annual
payments. A charitable gift consisting of listed shares or securities or comprising land
and buildings may also be deducted from total income.

» Qualifying maintenance payments of up to the minimum MCA are relieved at 10%.
Interest on qualifying loans used to buy a life annuity is relieved at 23%.

»  Qualifying Gift Aid donations are deemed to have been made net of basic rate tax.

» A Gift Aid donor must pay income tax and CGT of at least the amount of tax deemed
to have been deducted from the donation. Further tax relief is available to Gift Aid
donors who pay tax at a rate higher than basic rate.

Exercises

It should be assumed in the following exercises that the taxpayers concerned are not Scottish
taxpayers. However, an alternative solution is provided (where necessary) to indicate how the
income tax liability would differ for a Scottish taxpayer. A set of multiple choice questions for this
chapter is available on the accompanying website.

4.1

43

60

Mabel has total income of £24.205 in 2019-20, none of which is derived from savings or
dividends. During the year she makes a net deductible payment of £200. Show her
income tax computation for the year.

Paul has total income of £53.890 in 2019-20, none of which is derived from savings or
dividends. During the year he pays gross eligible interest of £1.600. Show his income
tax computation:

(a) with the interest payment (b) as it would be without the interest payment.

How much has the interest effectively cost him?

Rose is single and has total income of £12,200 in 2019-20. She makes a gross deductible
payment of £25 during the year. Show her income tax computation for the year and
determine the amount of tax relief given in relation to the payment.



CHAPTER4:PaymentsandGiftsEligibleforTax
Reliefd4.4

At what rate of income tax is each of the following types of payment
relieved in tax year 2019-207

(a) interest on a qualifying home loan used to buy an annuity (b)
interest on a loan used to buy an interest in a partnership (c)
qualifying maintenance payments

(d) a gift of pre-eminent property to the nation.
4.5

A taxpayer with no capital gains tax liability makes a qualifying Gift
Aid donation of

£960 in tax year 2019-20. Explain:

(a) why this donation is worth more than £960 to the charity which
receives it (b) why this donation might cost the taxpayer more than
£960

(c) why this donation might cost the taxpayer less than £960.
4.6

In 2019-20, Raj has dividend income of £63,400. He has no other
income. He makes a qualifying Gift Aid donation of £440 during the
year. Show his 2019-20 income tax computation.

4.7

Matthew (who was born on 1 May 1934) dies on 23 December 2019.
His only income in tax year 2019-20 is a retirement pension of
£30,260. He made a Gift Aid donation of

£200 in July 2019. His wife has income from property of £21,895 and
no other income.



In August 2019 she gave listed shares to charity with a market value
of £500.

They were married for many years and made no elections with regard
to the married couple's allowance. Calculate their tax liabilities for
2019-20.

*4.8

Pauline (born May 1937) marries Adrian (born March 1935) on 17
October 2019. Their income for 2019-20 is as follows:

£

Pauline:

Retirement pension
16,000

Building society interest
3,025

Adrian:

Income from property
53,600

Dividends received
3,750

During 2019-20, Adrian pays maintenance of £4,000 to his former
wife, as required by a court order. She has not remarried.

Show Pauline's and Adrian's income tax computations for 2019-20.

*4.9



Geoffrey's income for 2019-20 comprises a salary of £114,600 and
dividends received of £4,400. He makes qualifying Gift Aid donations
of £7,200 during the year. Calculate his 2019-20 income tax liability.
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Chapter 5
Income from property

Introduction

An individual's income from property is charged to income tax in accordance with the
rules of the Income Tax (Trading and Other Income) Act 2005. The main purpose of this
chapter is to explain those rules and to show how a taxpayer's UK property income is
calculated. Income from overseas property is considered separately in Chapter 32.

Definition of property income

ITTOIA 2005 states that income tax is charged on the profits of a property business. This
statute also states that a UK property business consists of a business which is carried on
for generating income from land which is situated in the UK and that "generating income
from land" means "exploiting an estate, interest or right in or over land as a source of
rents or other receipts". This is a fairly broad definition but, in practice, the main classes
of property income are:

(a) rents

(b) lease premiums (if the length of the lease does not exceed 50 years)

(c) amounts receivable in respect of rights of way, sporting rights etc.

(d) income from the letting of fixed caravans or permanently moored houseboats.

Dividends received from a UK Real Estate Investment Trust (UK-REIT) are also treated
as property income to the extent that they are derived from the company's tax-exempt
property income or gains (see Chapter 23). Such dividends are received net of basic rate
income tax and rank as non-savings income (see Chapter 2).

Despite the use of the word "business" above, income from property is almost always
treated as unearned income. The only occasion on which property income is treated as
earned income is when the income derives from the commercial letting of furnished
holiday accommodation (see later in this chapter). The distinction between earned and
unearned income may be especially important if the taxpayer is hoping to obtain tax relief
on pension contributions (see Chapter 14).
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CHAPTERS:IncomefromPropertyBasis of
assessment and allowable expenditure

As from tax year 2017-18, the profit of a property business is normally
calculated on the cash basist. Income is taxed in the year of receipt
and expenditure is deductible in the year of payment, with no
adjustment for receivables, payables, accruals etc. However, the
cash basis does not apply to property businesses with receipts for the
tax year in excess of

£150,000. Furthermore, landlords with receipts which do not exceed
this threshold may elect to apply the accruals basis (rather than the
cash basis) if they so wish.

Expenditure incurred wholly and exclusively for the purposes of a
property business is deducted when computing property income. The
types of expenditure which are likely to be deductible include the
following:

(a) repairs and maintenance (excluding improvements) and
insurances (b) the cost of providing services to tenants

(c) administrative and management costst (including bad debts if
cash basis not used) (d) rent paid to a superior landlord (if the
property is sub-let) (e) business rates, water rates or council tax (if
paid by the landlord) (f) interest paid on a loan to buy or improve the
property concerned (see below).

If a property is partly let and partly owner-occupied, the proportion of
the expenditure which relates to the letting of the property is
deductible when computing property income, as long as this
proportion can be determined with reasonable accuracy.

If a taxpayer rents out more than one property, total property
expenditure is deducted from total rental income, giving a single profit
(or loss) figure for the year.

T The cash basis for property income operates in much the same way
as the cash basis for trading income and is described more fully in



Chapter 9 of this book.

T Whether or not the cash basis is used, motor expenses may be
calculated by reference to specified mileage rates under the "fixed
rate deduction scheme" (see Chapter 9).

Tax relief for interest paid

As from 6 April 2017, new rules are being phased in that restrict tax
relief on interest (and other finance costs) incurred in relation to "buy-
to-let" loans on residential propertyt. For tax year 2020-21 and later
years, tax relief on such interest will be restricted to basic rate and
the interest will no longer be deductible when computing property
income. In the transition period, the percentage of the interest for
each year that may be deducted when computing property income is
as follows:

2017-18
75%
2018-19
50%
2019-20
25%

The remainder of the interest for the year acts as a tax reducer (see
Chapters 3 and 4) and is relieved at basic rate. As from tax year
2020-21, none of the interest for the year will be deductible from
property income. All of it will be treated as a tax reducer.

T The £500 per annum restriction on loan interest deductible by
businesses which operate the cash basis (see Chapter 9) does not
apply to property businesses.
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However, the available tax reduction for a tax year in relation to
interest paid is limited to basic rate income tax on the lower of:

(a) the amount of interest for that year that is not deductible when
calculating property income (e.g. 75% of the interest for 2019-20)

(b) the taxpayer's property income for the year, less any losses
brought forward (c) "adjusted total income" for the year, defined as
net income (excluding savings and dividend income) less the
personal allowance and blind person's allowance (if any).

If the available tax reduction for a year is based upon either (b) or (c)
above, then the excess of (a) over the amount on which the tax
reduction is based is carried forward to the following tax year and is
included in (a) for that year.

Note that these rules do not apply to furnished holiday lettings (see
later in this chapter).

Capital expenditure

Under the cash basis, capital expenditure on plant and machinery
acquired for use in the repair, maintenance or management of let
property is generally deductible as an expense in the year of
payment. Under the accruals basis, such expenditure will generally
be the subject of a claim for capital allowances (see Chapter 11). But
note that: (a) Under either basis, if fixed rate deductions (using
mileage rates) are made in relation to a vehicle, no other deductions
are available for that vehicle.

(b) Under the cash basis, expenditure on a motor car is not a
deductible expense. But capital allowances are available unless fixed
rate deductions are claimed.

Replacement domestic items relief

A relief known as "replacement domestic items relief" is available for
the cost of replacing certain items provided for domestic use in let



residential property, including furniture and furnishings, household
appliances and kitchenware. Note that: (i) Relief is available only
when an "old item" is replaced by a "new item". There is no relief for
the original cost of acquiring the very first item in a chain of items.

(ii) If the new item is substantially the same as the old item which it
replaces, the full cost of the new item is deductible. Otherwise, the
deduction from property income is restricted to that part of the cost of
the new item that does not exceed the expenditure which would have
been incurred on an item substantially the same as the old item.

(iif) The deductible cost of the new item is increased by any disposal
costs relating to the old item but reduced by any disposal proceeds of
the old item.

(iv) Replacement domestic items relief is not available if "rent-a-room"
relief applies or in the case of furnished holiday lettings (see later in
this chapter).

Capital allowances are not available in relation to plant and
machinery provided for use by tenants in let residential property.
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Ryan owns a house which he lets to a tenant. Rent is payable
monthly in advance on the first day of each month. The rent was
£600 per month until 1 January 2020, when it was increased to £650.
All rent due during 2019-20 was paid by the tenant on the due date
except that the rent due on 1 April 2020 was not paid until 7 April
2020.

Ryan's only property expenditure in 2019-20 was mortgage interest of
£3,200. Compute his property income for the year (assuming that he
does not elect for the accruals basis).

Solution



On the cash basis, rents for the year are (£600 x 8) + (£650 x 3) =
£6,750. Deductible interest is £800 (25% x £3,200) so property
income is £5,950. The remaining interest of

£2,400 will be relieved as a tax reducer at 20% (as long as Ryan has
adjusted total income for the year of at least £2,400).

EXAMPLE 2

Ursula owns a flat which was let to a tenant throughout tax year
2019-20. Rents received during the year were £10,500. Expenditure
during the year was as follows:

£

Insurance for the year to 30 June 2020
380

Repairs and maintenance

1,150

Replacement of sofa

729

The new sofa is superior to the sofa it replaced (and which was
scrapped). It would have cost only £399 to have bought a new sofa
which was equivalent in quality to the old one.

Compute property income for 2019-20 (assuming no election for the
accruals basis).

Solution
£
£



Rents for the year

10,500

Less: Insurance

380

Repairs and maintenance
1,150

Replacement of domestic item
399

1,929

Property income

8,571

Property income allowance

As from tax year 2017-18, gross property income of up to £1,000 p.a.
(before expenses) is exempt from income tax. If this figure is
exceeded, the taxpayer may elect to be taxed on the excess of gross
income over £1,000. Otherwise, property income is calculated by
deducting expenses from gross income in the usual way. The details
of this "property income allowance" are similar to those of the trading
income allowance (see Chapter 9).
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Losses

If a taxpayer's gross property income for a tax year is exceeded by
the allowable expenditure, then the taxpayer has incurred a loss and
taxable property income for the year is

£nil. The loss is carried forward and relieved against the first available
property income arising in subsequent tax years. Strictly speaking,
relief is given by deduction from the taxpayer's total income (see
Chapter 2), but the amount of relief given in any tax year cannot
exceed the property income for that year.

Any loss incurred on an individual property in a tax year will
automatically be set against profits arising on other properties in the
same year, since property income and expenditure is generally
pooled to give an overall profit or loss for the year.

EXAMPLE 3

Sandra's entire income is derived from the letting of property. Her
income and expenditure in tax years 2017-18 through to 2019-20 are
as follows:

2017-18

2018-19

2019-20

£

£

£

Total rental income

49,320



51,400

76,100

Total allowable expenditure
78,510

25,430

17,540

Compute her net income for each year.
Solution

2017-18

2018-19

2019-20

£

£

£

Total rental income

49,320

51,400

76,100

Total allowable expenditure

78,510



25,430
17,540

Property income/(loss)
(29,190)

25,970

58,560

Total income

0

25,970

58,560

Less: Losses b/f
(25,970)

(3,220)



Net income

Note:

The 2017-18 loss must be set against the first available property
income in subsequent years. This means that Sandra's net income
for 2018-19 is reduced to £nil and that her personal allowance for that
year is unused. However, it may be possible to transfer 10% of her
2018-19 personal allowance to a spouse or civil partner (see Chapter
3).
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A premium is a lump sum paid by a tenant to a landlord on the grant
of a lease. The income tax treatment of lease premiums is as follows:

(a) Premiums arising on the grant of a "long lease" (a lease of more
than 50 years) are not charged to income tax at all.



(b) Premiums arising on the grant of a "short lease" (a lease of 50
years or less) are charged to income tax in the tax year in which the
lease is granted. However, the amount of the premium is reduced for
this purpose by 2% for each year of the lease except for the first year.

Note that these provisions apply only to the grant of a new lease, not
to the assignment of an existing lease. Note also that lease premiums
arising on the grant of a lease may give rise to a capital gains tax
liability (see Chapter 19).

EXAMPLE 4

In tax year 2019-20, a landlord receives a premium of £36,000 when
granting a 25-year lease to a tenant. How much of this premium is
chargeable to income tax?

Solution
£36,000 — (24 x 2% x £36,000) = £18,720.
Relief for premiums paid

A tenant who pays a premium on being granted a short lease may
obtain tax relief on the premium paid in one of two ways:

(a) If the tenant uses the property for business purposes, he or she
may claim an annual deduction from trading profits. This is equal to
the amount of the premium on which the landlord is charged to
income tax, divided by the lease duration (see Chapter 9).

(b) If the tenant sub-lets the property and receives a premium from
the sub-lessee, then the assessable amount of the premium received
is reducedt by: Duration of sub - lease

Landlord's income tax assessment on premium paid x

Duration of head - lease



If this reduction cannot be made in full (either because the premium
received is too small or because no premium was received at all) the
excess is spread evenly over the period of the sub-lease and set
against the rents due from the sub-lessee.

T This reduction is not available under the cash basis. However, the
reduction could be obtained by opting for the accruals basis.
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EXAMPLE 5

Susan is granted a 20-year lease on a property, paying a premium of
£76,000. Explain how tax relief will be given in relation to this
premium if: (a) she uses the property for trading purposes, or

(b) she grants a sub-lease to Timothy for five years, receiving a
premium of: (i)

£25,000

(i) £10,000

(assume that the cash basis does not apply).
Solution

(a) The amount assessable to income tax on Susan's landlord is
£47,120 (£76,000 less 38% of £76,000). If Susan uses the premises
for trading purposes she will be able to claim an annual deduction of
£2,356 from her trading profits for each of the next 20

years (£47,120 divided by 20 = £2,356).
(b)
(i)



Premium received
25,000

10,000

Less: 2% x 4 x £25,000
2,000

2% x 4 x £10,000

800

23,000

9,200

5

Less: Premium paid £47,120 x
=£11,780

11,780

9,200

20



Assessable premium
11,220

nil

In case (ii), the reductio n available in relation to the premium paid
cannot be made in full. The amount unrelieved is £2,580 (£11,780 —
£9,200). There will be no income tax assessment on the premium
received in this case and a deduction of £516 will be made from
Susan's property income for each of the five years of the sub-lease
(£2,580 divided by 5 = £516).

Reverse premiums

A "reverse premium" is a premium paid by a landlord to a potential
tenant so as to induce that tenant to take out a lease. From the point
of view of the tenantt, a reverse premium is chargeable to income tax
unless the rented premises are used by the tenant as his or her only
or main residence. If the rented premises are used for business
purposes, the amount received is treated as trading income (see
Chapter 9). Otherwise the amount received is treated as property
income.

T As regards the landlord, the payment of a reverse premium is
usually treated as enhancement expenditure for capital gains tax
purposes (see Chapter 18).
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"Rent-a-room" relief

If a taxpayer lets furnished accommodation which forms part of his or
her main residence, gross annual rents not exceeding a specified
limit (£7,500 for 2019-20) are exempt from income taxt. However, the
taxpayer may elect to ignore this exemption and to apply the usual
property income rules instead. This might be beneficial if the rents
were exceeded by expenses, so that a loss could be claimed.

If gross rents for a tax year exceed the limit, rents less expenses are
assessed to income tax in the normal way. However, the taxpayer
may elect to be assessed instead on the excess of gross rents over
the limit, without deducting expenses of any kind.

Both of the elections referred to above must be made by 31 January
in the second tax year following the tax year to which the election
relates. The first election applies only to the year for which it is made.
The second election applies to all subsequent tax years until a year
arises in which gross rents do not exceed the limit (or the election is
withdrawn).

T For now, the Government has decided against introducing a
"shared occupancy” test, whereby rent-a-room relief would not apply
if an entire residence was let during the owner's absence.

EXAMPLE 6

In 2019-20, Victor rents out a room in his home and receives rents of
£8,150. He incurs allowable expenses of £820. What "rent-a-room"
elections (if any) should he make?

Solution

The rent-a-room exemption does not apply since gross rents exceed
£7,500. If Victor does nothing, he will be charged to income tax on
property income of £7,330 (£8,150 — £820).

If he elects to be assessed on the excess of gross rents over the rent-
a-room relief limit, his property income for tax purposes will be only



£650 (£8,150 — £7,500). He should make this election and he has
until 31 January 2022 to do so.

Furnished holiday lettings (FHL)

Income from " the commercial letting of furnished holiday
accommodation" is treated for certain tax purposes as if it were
trading income, with the following beneficial effects: (a) The income is
regarded as earned income when determining the extent to which tax
relief is available in relation to pension contributions (see Chapter
14).

(b) Capital allowances may be claimed in relation to plant and
machinery (including furniture) provided for use by tenants (see
Chapter 11).

(c) Business-related capital gains tax reliefs may be available (see
Chapter 22).

Furthermore, the new rules on mortgage interest and other finance
costs (restricting tax relief to basic rate) do not apply to furnished
holiday lettings.
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FHL conditions

Letting qualifies as the commercial letting of furnished holiday
accommodation if all of the following conditions are satisfied:

(a) The property concerned is situated in the UK or elsewhere in the
European Economic Area (see Chapter 3) and is let furnished with a
view to profit.

(b) The property is available for letting to the general public as holiday
accommodation for at least 210 days in the tax year and is actually let
for at least 105 days, ignoring any periods of "longer-term



occupation” (i.e. periods of more than 31 consecutive days during
which the accommodation is in the same occupation).

(c) The property is not in longer-term occupation for more than 155
days in the tax year.

A taxpayer with furnished holiday lettings both in the UK and
elsewhere in the EEA is treated as having two separate FHL
businesses. All qualifying property in the UK forms one FHL
business. All qualifying property elsewhere in the EEA forms a
separate FHL

business. A loss incurred in either of these FHL businesses may be
set only against income arising from the same FHL business.

If a property qualifies as furnished holiday accommodation in one tax
year, the taxpayer who owns the property may elect to treat the
property as continuing to qualify for up to two further tax years (the
"period of grace") even though it does not satisfy the 105-day
condition in those years. Such an election may not be made for a tax
year if an averaging election is made in respect of the same year for
the property concerned (see below).

Averaging

A taxpayer who owns two or more properties, each of which qualifies
for FHL purposes except that at least one property does not satisfy
the 105-day condition, may claim that any or all of these properties
should be treated as furnished holiday accommodation as long as
their average number of days let is at least 105 days.

An averaging claim must be made by 31 January in the second tax
year following the tax year to which the election relates.

EXAMPLE 7

Yvonne owns four cottages, all let furnished with a view to profit.
None of the cottages is ever let to the same tenant for more than 31



consecutive days. In 2019-20 the number of days each cottage was
available for letting and the number of days actually let were:

Days available
Days actually let
Cottage A

220

115

Cottage B

240

85

Cottage C

190

148

Cottage D

250

103

Show Yvonne's potential averaging claims.
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Solution

Cottage C cannot be treated as furnished holiday accommodation since it does not pass
the 210-day test. Cottages A, B and D all pass this test but only Cottage A also passes the
105-day test. Without any averaging claims, therefore, only Cottage A will be regarded as
furnished holiday accommodation. Possible averaging claims are:

(@)
(b)

(€)

Average Cottage A with Cottage B. This is no use since the average number of days
let is only 100.

Average Cottage A with Cottage D. This would be beneficial since the average
number of days let is 109.

Average Cottage A with Cottage B and Cottage D. This is no use since the average
number of days let is only 101.

Therefore, Yvonne should claim that Cottage A should be averaged with Cottage D, in
which case both cottages would qualify as furnished holiday accommaodation.

Summary

»

Income tax is charged on the profits of a business which is carried on for the purpose
of generating income from land situated in the UK.

As from tax year 2017-18, property income is generally calculated on the cash basis.
However, the cash basis does not apply to property businesses with receipts for the
year which exceed £150,000. Expenditure incurred wholly and exclusively for the
purposes of a property business is deducted when computing property income.

Tax relief for interest incurred in relation to "buy-to-let" loans is being restricted. As
from tax year 2020-21, relief for such interest will be given at basic rate only.

Under the cash basis, the cost of plant and machinery used in the repair, maintenance
or management of let property is a deductible expense. Capital allowances may be
claimed if the accruals basis applies. Tax relief is also available in relation to the cost
of replacing domestic items provided for use by tenants.

Losses incurred by a property business are carried forward and set against the first
available property income arising in subsequent years.

A premium received on the grant of a lease is charged to income tax if the lease does
not exceed 50 years. The assessable amount is the amount of the premium less 2% for
each year of the lease except the first.

Rent-a-room relief is available if a taxpayer receives rents of up to £7,500 p.a. from
the letting of furnished rooms in his or her main residence.

Under certain conditions, the letting of furnished property qualifies as the commercial
letting of furnished holiday accommodation. This offers a number of tax benefits.
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Exercises

Unless stated otherwise, it may be assumed in each of the following
exercises that the taxpayer concerned has not made an election for
the accruals basis to apply. A set of multiple choice questions for this
chapter is available on the accompanying website.

5.1

Andrew owns a house which he lets to tenants. Rent is payable
quarterly in advance on 1

January, 1 April, 1 July and 1 October. The rent was £8,000 per
annum until it was increased to £8,800 per annum with effect from 1
January 2020. Rent received by Andrew during 2019-20 was as
follows:

£

2 July 2019

2,000

30 September 2019
2,000

3 January 2020
2,200

6,200



Andrew did not receive the payment due on 1 April 2020 until 6 April
2020. Compute his property income for 2019-20, assuming that the
only expenditure incurred during the year was buy-to-let mortgage
interest of £4,100.

5.2

Simon owns an apartment which he lets to tenants. The apartment
was let throughout tax year 2019-20 and rents received during the
year were £16,640. The expenses incurred by Simon in relation to
this apartment during 2019-20 were as follows:

£

Advertising for new tenant

135

Repairs and maintenance

590

Insurance costs

730

Replacement of refrigerator
325

Interest on buy-to-let mortgage
3,420

Capital repayments on buy-to-let mortgage
2,160

The new refrigerator is very similar in all respects to the old one
which was provided at a cost of £270 several years previously and



has now been scrapped. Costs of £10 were incurred in order to
transport the old refrigerator to the local recycling centre.

Compute Simon's property income for 2019-20 and explain how this
computation would differ if the tax year concerned was 2020-21
instead of 2019-20.

5.3

In 2019-20, a landlord receives a premium of £12,000 when granting
a lease to a tenant.

Compute the amount of this premium which is chargeable to income
tax if the length of the lease is:

(a) 60 years

(b) 50 years

(c) 20 years.
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In 2019-20, Jasper is granted a 10-year lease on a property, paying a
premium of

£15,000. He uses the property for trading purposes. Compute the tax
relief which he will be allowed in respect of the lease premium.

5.5

Georgina owns three holiday flats, all of which she lets furnished with
a view to profit.

None of the flats is ever let to the same tenant for more than 31
consecutive days. In 2019-20 the number of days for which each flat
was available for letting, and the number of days actually let, were:



Days available
Days actually let
Flat 1

210

99

Flat 2

220

107

Flat 3

252

109

Show Georgina's potential averaging claims.
*5.6

In 2019-20, Peter is granted a 12-year lease on a property, paying a
premium of £40,000

to his landlord. He immediately grants a 4-year sub-lease to Paula,
receiving a premium from her of £14,000. Calculate the income tax
assessment on the premium received by Peter, assuming that he has
elected for the accruals basis.

*5.7

Melissa (who is not a Scottish taxpayer) owns a house which she lets
to tenants. The house was let throughout 2019-20 and rents received
during the year were £7,200. Her deductible expenditure for the year



was £900. She had property losses brought forward from 2018-19 of
£6,550. Her other income in 2019-20 was as follows:

£

Retirement pension
16,980

Building society interest
1,730

Compute Melissa's income tax liability for the year. How would this
differ for a Scottish taxpayer?
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Chapter 6

Income from savings and
investments

Introduction

The main purpose of this chapter is to explain the tax treatment of income arising from
savings and investments. The main options available to a taxpayer who wishes to save or
invest are to deposit money in bank and building society accounts or to invest in shares
and securities. Each of these courses of action has its taxation implications and this chapter
explains those implications.

This chapter also briefly considers the taxation of income from trusts and settlements
and the tax treatment of certain miscellaneous sources of income.

Interest received

Interest received by a taxpayer is charged to income tax by the Income Tax (Trading and
Other Income) Act 2005. This Act states that tax is charged on the full amount of interest
arising in the tax year and that interest "arises" when it is paid to the taxpayer or when it is
credited to the taxpayer's account. Accrued interest is ignored when computing the amount
of interest arising in a tax year. Note that:

(a) Interest ranks as savings income and so any interest which falls into the first £5,000
of taxable income (in 2019-20) is taxed at the starting rate for savings of 0%. Most
taxpayers are also entitled to a personal savings allowance (PSA) of £1,000. This is
reduced to £500 if taxable income exceeds the non-Scottish basic rate limit and to
£nil if taxable income exceeds the higher rate limit. Interest which falls within the
PSA in 2019-20 is taxed at the savings nil rate of 0% (see Chapter 2).

(b) In general, no expenses are allowed against this form of income. However, taxpayers
who make loans through "peer-to-peer" platforms may offset any bad debts incurred
on such loans against the interest received.

Interest from banks and building societies (and NS&I) is now received gross, with no tax
deducted at source. Interest received from unit trusts and investment trusts and interest on
peer-to-peer loans is also received gross. But certain other types of interest are received
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n t s net of basic rate tax (see Chapter 2). When preparing an income
tax computation, the gross equivalent of any interest received net of
tax should be included in total income. The tax suffered by deduction
at source is then subtracted from the income tax liability when
calculating the amount of tax payable for the year.

Self-certification

Basic rate income tax is still deducted at source from the income
element of purchased life annuities (see Chapter 2). However, a UK-
resident individual who is unlikely to be liable to income tax for a tax
year may supply a certificate to this effect (form R89) to the payer of
the annuity. Such individuals then receive their interest gross. This
avoids the need to claim a repayment of overpaid tax from HMRC at
the end of the tax year.

EXAMPLE 1

In 2019-20, Alfred (not a Scottish taxpayer) had business profits of
£16,870 and received net debenture interest of £1,520. He acquired
the debentures on 1 July 2019 and accrued interest (gross) on 5 April
2020 was £950. Calculate the income tax payable for the year.

Solution
Total
Non-savings
Savings

£

£

£

Business profits



16,870

16,870

Debenture interest £1,520 x 100/80
1,900

1,900

Total income

18,770

16,870

1,900

Less: Personal allowance
12,500

12,500

Taxable income

6,270



4,370
1,900

Income tax due
Non-savings income
4,370 @ 20%
874.00

Savings income
: Starting rate
630 @ 0%

0.00

: Nil rate

1,000 @ 0%
0.00

: Basic rate

270 @ 20%
54.00

: Basic rate



6,270

Tax liability
928.00
Less: Tax deducted at source (£1,900 — £1,520)

380.00

Tax payable
548.00

Note:

Taxable income does not exceed the basic rate limit, so the PSA is
£1,000. Accrued debenture interest is ignored. For a Scottish
taxpayer, the first £2,049 of taxable non-savings income would be
taxed at the 19% starter rate, reducing the liability by £20.49.
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Accrued income scheme

The accrued income scheme exists in order to prevent a form of tax
avoidance known as

"bondwashing". Bondwashing involves selling securities "cum
interest" (so that the buyer of the securities will receive the next



interest payment) just before an interest payment is due. The price
paid by the buyer reflects the fact that the sale is cum interest and so
the seller of the securities is not disadvantaged. However, the effect
of the transaction from the tax point of view is that the seller has
converted what would have been income into a capital gain. Since
capital gains arising on the disposal of certain securities are exempt
from capital gains tax (see Chapter 20) the seller appears to have
avoided tax.

The accrued income scheme overcomes this potential loss of tax by
charging the seller income tax on the interest which has accrued up
to the date of the sale. The buyer of the securities is entitled to tax
relief on the same amount and this is given by deduction from the
next interest payment the buyer receives. Similar arrangements apply
if securities are transferred "ex interest" (so that the seller will receive
the next interest payment). In this case, the buyer is taxed on the
interest accruing from the date of the sale to the date of the next
interest payment and the seller is entitled to tax relief on the same
amount.

The accrued income scheme applies to securities such as gilts, local
authority bonds and company debentures. It does not apply to
ordinary or preference shares. Transfers made by individuals who
have not held securities with a total nominal value exceeding £5,000
in the current tax year or in the preceding tax year are excluded from
the scheme.

Dividends received

Dividends received are charged to tax by the Income Tax (Trading
and Other Income) Act 2005. Income tax is charged on the amount of
dividends received in the tax year, with no adjustment for any accrued
dividends. No expenses are allowed against dividend income.

For 2019-20, the first £2,000 of dividends included in taxable income
are taxed at the dividend nil rate. Any further dividends are taxed at
the dividend ordinary rate (7.5%), the dividend upper rate (32.5%) or
the dividend additional rate (38.1%). Note that: (a) The "dividend



allowance" of £2,000 also applies to dividends received from
overseas companies (see Chapter 32).

(b) Any capital gain which arises on a disposal of shares is generally
subject to capital gains tax (see Chapter 20).

Tax-efficient investments

A taxpayer who is seeking a tax-efficient means of investing in an
interest-bearing account or in shares and securities may invest in any
of the following: (a) an Individual Savings Account (ISA)
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(c) a Venture Capital Trust (VCT)
(d) a Child Trust Fund (CTF).

Each of these forms of investment is considered below. Further tax-
efficient investment opportunities are offered by the Community
Investment Tax Credits (CITC) scheme and by investments which
qualify for Social Investment Tax Relief (SITR). The main features of
each of these schemes are explained on the website which
accompanies this book. The website address is
www.pearsoned.co.uk/melville.

Individual Savings Accounts

Individual Savings Accounts (ISAs) may be held by individuals who
are at least 16 years old and resident in the UK. The residence
requirement is waived in the case of Crown servants serving
overseas and their spouses (or civil partners). The main features of
these tax-free accounts are as follows:

(a) ISAs are of two main typest. These are "cash ISAs" and "stocks
and shares ISAs".


http://www.pearsoned.co.uk/melville

Money invested in a cash ISA is held in a savings account. Money
invested in a stocks and shares ISA is used by the ISA provider to
acquire stocks and shares on the saver's behalf. These stocks and
shares may be listed on a stock exchange anywhere in the world.
However, it is now permissible for a stocks and shares ISA to hold
some cash on deposit. Savers under the age of 18 may invest in a
cash ISA only.

T There is also a third type of ISA (the "innovative finance ISA").
Money invested in such an ISA is used to make peer-to-peer loans.

(b) Each tax year, a saver may invest in only one ISA of each type.
Savers may start fresh ISAs each year or may invest in ISAs started
in previous years.

(c) The maximum amount ("subscription limit") which a saver may
invest in ISAs during tax year 2019-20 is £20,000. This may be
allocated in any way between the different types of ISA. There is no
lifetime limit on the amount that may be saved in ISAs, nor is there a
minimum level of saving.

(d) Some or all of the money saved in cash ISAs in previous tax years
may be transferred to stocks and shares ISAs (or vice versa). Savers
may also transfer all of the money saved in a cash ISA in the current
year to a stocks and shares ISA (or vice versa).

(e) Interest and dividends arising from ISAs are exempt from income
tax. Capital gains (and losses) arising from ISAs are exempt from
capital gains tax.

(f) Withdrawals may be made from an ISA without loss of tax relief.
ISA providers are now able to offer savers the flexibility of
withdrawing cash from an ISA and then replacing it later in the same
tax year, without this replacement counting towards the subscription
limit for the year concerned.
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The surviving spouse or civil partner of an ISA saver who dies is
granted an extra ISA allowance equal to the value of the deceased
person's ISA savings on death. This allowance must be used within a
specified time period.

(h) "Help to Buy" ISAs provide a tax-free bonus of up to £3,000 to
savers who use the amount saved to buy their first home. "Lifetime"
ISAs are available to savers under the age of 40. Up to £4,000 p.a.
can be saved in such an ISA until the age of 50 and a bonus of 25%
is added to the amount saved. However, withdrawals before the age
of 60 incur a withdrawal charge of 25% unless the funds are used to
buy a first home.

Note that ISAs were relaunched as NISAs (New ISAs) on 1 July 2014
and all existing ISAs became NISAs on that date. However, the term
"ISA" is still widely used.

EXAMPLE 2

For each of the following savers, identify the further ISA investments
that may be made during tax year 2019-20:

(a) Alexander saves £500 in a cash ISA on 26 April 2019.
(b) Bianca saves £6,000 in a stocks and shares ISA on 21 May 2019.

(c) Jon saves £1,000 in a cash ISA on 17 June 2019 and £8,000 in a
stocks and shares ISA on 4 August 2019.

Solution

(a) £19,500 (£20,000 — £500) may be saved, in either the same cash
ISA or a stocks and shares ISA or an innovative finance ISA (or in a
combination of these).

(b) £14,000 (£20,000 — £6,000) may be saved, in either the same
stocks and shares ISA or a cash ISA or an innovative finance ISA (or
in a combination of these).



(c) £11,000 (£20,000 — £9,000) may be saved, in either the same
cash ISA or the same stocks and shares ISA or an innovative finance
ISA (or in a combination of these).

Junior ISAs

Junior ISAs (JISAs) are available to children under 18 who are UK
resident and do not have a Child Trust Fund account (see below).
JISAs are tax-free and investments may be made in cash or in stocks
and shares. Funds invested in a JISA are owned by the child but are
locked in until he or she reaches the age of 18.

The maximum amount that can be invested in a JISA in 2019-20 is
£4,368. Note that: (a) The fact that a child has a JISA does not
prevent that child from also having an adult ISA as from the age of
16, in which case the existence of the JISA has no impact upon the
adult ISA subscription limits.

(b) Any income derived from parental contributions to a JISA does not
count towards the

£100 limit relating to income derived from a parent (see Chapter 2).
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The Enterprise Investment Scheme (EIS) was established in 1994 to
provide a means of encouraging investment in industry. The main
features of the EIS are as follows: (a) Income tax relief is available to
taxpayers who subscribe for newly-issued ordinary shares in
qualifying companies. Broadly, these are unlisted trading companies
with less than 250 employees (500 for "knowledge-intensive"
companies) which have a permanent establishment in the UK and
gross assets not exceeding £15m immediately before the issue and
£16m immediately after it. The company must normally have been
trading for no more than seven years (ten for knowledge-intensive



companies) and the total raised under the EIS and other venture
capital schemes must not exceed

£5m per annum (£10m for knowledge-intensive companies).

(b) The total amount of the tax-advantaged investments which a
company may receive under the EIS and other venture capital
schemes such as the SEIS and the VCTs scheme (see below) is
capped at £12m (£20m for knowledge intensive companies).

(c) Income tax relief takes the form of a reduction in the amount of tax
due on the taxpayer's taxable income. This tax reduction is equal to
30% of the amount invested in qualifying companies during the tax
year and takes priority over the tax reductions relating to certain
payments (see Chapter 4) and the MCA (see Chapter 3).

(d) A taxpayer's EIS investments of up to £2m in each tax year are
eligible for tax relief, as long as any amount over £1m is invested in
knowledge-intensive companies. Any of the EIS investments made in
a tax year may be carried back and treated as if made in the previous
year, but the total EIS investment that can attract income tax relief in
any one tax year is subject to the £2m limit.

(e) The taxpayer must not be connected with the company at any
time during the two years prior to the date of the investment and the
three years following that date.

Broadly speaking, an individual is connected with a company for this
purpose if he or she is an employee of the company or, together with
associates, owns more than 30%

of the company's ordinary shares.

(f) Dividends received on the shares are subject to income tax in the
usual way.

(g) Any capital gain arising on the eventual disposal of the shares is
exempt from CGT



but any loss on the disposal is eligible for relief. When calculating the
loss, the shares are deemed to have been acquired for their issue
price, less the tax reduction obtained when the shares were
purchased. A loss may be relieved as a capital loss, in the usual way
(see Chapter 17) or against the taxpayer's total income (see Chapter
12).

Furthermore, the capital gain arising on the disposal of any asset may
be deferred if an amount of money equal to the gain is invested in
EIS shares (see Chapter 22).

The taxpayer must retain the shares for a minimum holding period of
at least three years or both the income tax and capital gains tax
reliefs are lost.
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Seed Enterprise Investment Scheme

The Seed Enterprise Investment Scheme (SEIS) was launched in
April 2012 as a means of encouraging investment in start-up
companies. The main features of the scheme are: (a) Subject to
certain conditions, tax relief is available to investors who subscribe for
ordinary shares in a company which is carrying on a new business. A
new business is one which started no more than two years before the
share issue.

(b) The company concerned must be an unlisted trading company
with a permanent establishment in the UK. The company must have
fewer than 25 employees and its total assets must not exceed
£200,000 before the SEIS investment is made. Also, the amount of all
SEIS investment received by the company in the three years to the
date of the latest investment must not exceed £150,000.

(c) During the period from the company's incorporation until the third
anniversary of the share issue, the investor must not own 30% or
more of the company's share capital.



Also, the investor cannot be an employee of the company (other than
a director).

(d) Tax relief takes the form of an income tax reduction equal to 50%
of the amount invested up to a limit of £100,000 per annum. Relief is
withdrawn if the shares are disposed of within three years. As with
the main EIS, any SEIS investments made during a tax year may be
carried back and treated as if made in the previous year.

(e) Any capital gain arising on the eventual disposal of the shares is
exempt from CGT

but any loss on the disposal is eligible for relief. Furthermore, the gain
arising on the disposal of any asset may be reduced for tax purposes
by 50% of the amount invested through the seed EIS during the year

in which the disposal occurs (see Chapter 22).

The scheme was scheduled to end on 5 April 2017 but has now been
extended indefinitely.

Venture Capital Trusts

A Venture Capital Trust (VCT) is a company which is approved as
such by HMRC. The main conditions which must be satisfied before
approval can be obtained are as follows: (a) The company's ordinary
shares must be listed on an EU stock exchange.

(b) Its income must be derived wholly or mainly from shares or
securities and no more than 15% of this income may be retained by
the company.

(c) At least 80% of its total investments must be "qualifying holdings"
and at least 70%

of these holdings must be "eligible" shares. Broadly, shares or
securities owned by a VCT rank as qualifying holdings if they were
newly issued to the VCT and are shares or securities of a company
which would be a qualifying company for the purposes of the EIS
(see above). Eligible shares exclude redeemable shares.
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can represent more than 15% of a VCT's investments. At least 10%
of a VCT's investment in a company must be held in the form of
eligible shares.

(e) At least 30% of the funds raised by a VCT during an accounting
period must be invested in qualifying holdings within 12 months of the
end of that period.

Income tax relief is available to taxpayers who subscribe for newly-
issued shares of a VCT. This takes the form of a tax reduction equal
to 30% of the amount invested, subject to an investment limit of
£200,000 per tax year. This reduction takes priority over the tax
reductions relating to certain payments made by the taxpayer (see
Chapter 4) and the tax reduction relating to the MCA (see Chapter 3).
To qualify for income tax relief, the taxpayer must hold the shares for
a minimum holding period of at least five years.

Dividends on the first £200,000 of VCT shares acquired in each tax
year are exempt from income tax and any capital gain or loss arising
on the disposal of these shares is exempt from capital gains tax,
regardless of whether or not the shares have been held for the
minimum holding period.

Child Trust Funds

Child Trust Fund accounts were introduced in 2005 as a tax-efficient
means of building up a fund of assets for a young person to use (or
re-invest) at the age of 18. The scheme involved the establishment of
a CTF account for each child born on or after 1 September 20027.
The Government would contribute funds into each CTF account and
additional contributions could be made by the child and by his/her
family and friends.



However, the Child Trust Funds scheme has now been wound down.
Children born after 2 January 2011 do not qualify for CTF accounts
and all Government contributions to existing accounts have ceased.
But existing CTF accounts remain open and these accounts continue
to offer the following tax advantages:

(a) Additional contributions may still be made into a CTF account.
These contributions do not attract tax relief in themselves. But income
and gains arising from CTF investments are tax-free and no tax
liability arises when a CTF account reaches maturity on the child's
18th birthday.

The maximum amount (the "subscription limit") that may be invested
in a CTF in tax year 2019-20 is £4,368.

(b) Any income derived from parental contributions to a CTF account
does not count towards the £100 limit relating to income derived from
a parent (see Chapter 2).

Note, however, that no funds may be withdrawn from a CTF account
until maturity.

T CTF accounts will begin to mature on 1 September 2020 (i.e. on the
18th birthday of children born on 1 September 2002). The
Government is currently drafting regulations which will ensure that
maturing CTFs can retain their tax-free status after maturity.
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Income from trusts and settlements

A trust or settlement is an arrangement whereby property is held by
persons known as trustees, for the benefit of other persons known as
beneficiaries. Trusts fall into two main categories, as follows:

(a) If one or more persons are entitled to receive all of the income
which is generated by the trust property, then those persons are "life
tenants" and the trust is a "trust with an interest in possession".



(b) If there is no life tenant and the trustees have the discretion to
distribute as much or as little of the trust income to the beneficiaries
as they see fit, the trust is referred to as a

"discretionary trust".

Trust taxation is a very complex matter and a full study of the subject
is beyond the scope of this book. However, an introduction to trust
taxation is given below.

Trusts with an interest in possession

For tax year 2019-20, the trustees of a trust with an interest in
possession are liable to income tax at the dividend ordinary rate
(7.5%) on the trust's dividend income and at the basic rate (20%) on
all of its other income. Note that:

(a) The tax liability of the trustees is never calculated at the starting
rate for savings, the higher rate, the additional rate or the dividend
upper and additional rates. Trustees are not entitled to the personal
savings allowance or the dividend allowance, so the savings nil rate
and dividend nil rate (see Chapter 2) are both unavailablet.

(b) The general expenses of administering the trust are not allowed
when computing the income tax liability of the trustees. However,
expenses which relate to specific items of trust income (e.g.
expenses normally deductible from property income) are set against
that income.

(c) The trustees' tax liability is calculated without deduction of
personal allowances.

(d) Relief is given for income tax deducted at source (if any).
T Scottish income tax rates do not apply to trusts.

The income which remains after tax and all expenses have been
deducted (including general administration expenses) is paid to the



life tenants and is dealt with in their personal tax computations. In
those computations:

(a) trust non-savings income and trust savings income are treated as
income received net of basic rate tax

(b) trust dividend income is treated as dividend income received net
of tax calculated at the dividend ordinary rate.

The general administration expenses of the trust are deemed to have
been paid first out of dividend income, then out of savings income
and then out of non-savings income.
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An interest in possession trust with one life tenant has the following
income in 2019-20:

£

Rents receivable

30,200

Loan interest received (net)

7,200

Dividends received

1,600

Expenses were incurred in the year as follows:
£

Property expenses



6,900

Administration expenses

2,120

(a) Compute the trustees' income tax liability for 2019-20.

(b) How much income does the life tenant receive from the trust in
2019-20 and how will this be treated in his or her personal tax
computation?

Solution

Total

Non-Savings Savings

Dividends

£

£

£

£

Property income £30,200 — £6,900
23,300

23,300

Interest received £7,200 x 100/80
9,000

9,000



Dividends received
1,600
1,600

33,900

23,300

9,000

1,600

Income tax @ 20%
(4,660)

(4,660)

Income tax @ 20%
(1,800)

(1,800)

Income tax @ 7.5%
(120)

(120)



Income after tax

27,320

18,640

7,200

1,480

Administration expenses
(2,120)

(640)

(1,480)

Income after tax and expenses
25,200
18,640



6,560

(a) The trustees' tax liability for the year is £6,580 (£4,660 + £1,800 +
£120). The £1,800

of tax deducted at source (£9,000 — £7,200) is deducted, leaving tax
payable by the trustees of £4,780.

(b) The income of the life tenant is:
Gross

Tax deducted

£

£

Non-savings £18,640 x 100/80
23,300

4,660

Savings £6,560 x 100/80
8,200

1,640



Total
31,500
6,300

The gross income will be included in the life tenant's computation for
2019-20. The tax deducted at source will be subtracted when
computing tax payable for the year.
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Discretionary trusts

In general, the income tax liability of the trustees of a discretionary
trust is calculated at the "dividend trust rate" on dividend income and
at the "trust rate" on all other income. For tax year 2019-20, these
rates are 38.1% and 45% respectively. However, these rates do not
apply to income which has been used to fund the expenses of
administering the trust. Such income is taxed at the dividend ordinary
rate (7.5%) or the basic rate (20%), depending upon the type of
income involved.

Also, the first £1,000 of the income of a discretionary trust is not
taxed at the special trust rates but is instead charged to tax at the
income tax rate which generally applies to the class of income
concerned (i.e. the dividend ordinary rate or the basic rate). When
identifying the first £1,000 of a trust's income, non-savings income is
considered first, then savings income, then dividends.



Any payments which are made to beneficiaries are deemed to have
been made net of tax at the trust rate (45%) and must therefore be
grossed-up at 100/55 in their personal income tax computations. The
amount of tax which is deemed to have been deducted from such
payments is assessable on the trustees, but only to the extent (if any)
that it exceeds the trustees' "tax pool". Broadly, this comprises the
sum of: (a) the pool balance brought forward (if any) from the
previous tax year (b) any tax suffered by the trustees for the current
tax year at the trust rate (45%) or the dividend trust rate (38.1%), plus
any tax suffered on the first £1,000 of trust income, calculated at the
basic rate (20%) or the dividend ordinary rate (7.5%).

If the total in the tax pool exceeds the amount of tax treated as
deducted from payments made to beneficiaries during the year, the
balance is carried forward to the next tax year and forms the opening
balance of the tax pool for that year (see (a) above).

Trusts with vulnerable beneficiary

A special tax regime applies to certain trusts with a "vulnerable
beneficiary" (generally a disabled person or an orphan). This tax
regime (if opted for) ensures that the tax liability of the trust is
reduced to the amount of tax that would have been payable if the
trust income and gains had accrued directly to the beneficiary
concerned.

EXAMPLE 4

Assume that a discretionary trust has the same income and expenses
in 2019-20 as the trust described in the above example. Assume also
that a payment of £5,500 was made to a beneficiary during the year.

(a) Compute the trustees' income tax liability for 2019-20.

(b) Show how the £5,500 received by the beneficiary will be treated in
his or her personal tax computation.
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Solution

Total

Non-Savings Savings

Dividends

£

£

£

£

Property income £30,200 — £6,900
23,300

23,300

Interest received £7,200 x 100/80
9,000

9,000

Dividends received

1,600

1,600



33,900

23,300

9,000

1,600

First £1,000 of trust income:
Income tax at 20% on £1,000
(200)

(200)

Remainder of trust income:
Income tax @ 7.5% on £1,600
(120)

(120)

Income tax @ 20% on £800
(160)

(160)

Income tax @ 45% on £8,200
(3,690)

(3,690)



Income tax @ 45% on £22,300
(10,035)
(10,035)

Income after tax

19,695

13,065

5,150

1,480

Administration expenses
(2,120)

(640)

(1,480)



Income after tax and expenses
17,575

13,065

4,510

0

Note:

The administration expenses of £2,120 are deemed to have been
paid out of the trust's after-tax income, first out of dividends (£1,480)
and then out of savings income (£640). As

£640 of net savings income has been used for this purpose, gross
savings income of £800

is taxed at only 20% and not at the special rate of 45%.

(a) The trustees' tax liability is £14,205 (£200 + £120 + £160 + £3,690
+ £10,035). The tax deducted at source of £1,800 is subtracted,
leaving tax payable by the trustees of

£12,405. This consists of £10,235 payable on the non-savings
income, an extra 25%

(45% — 20%) on the £8,200 of savings income which is taxed at the
trust rate (25% x

£8,200 = £2,050) and £120 on the dividend income.



(b) Gross trust income of £10,000 (£5,500 x 100/55) is included in the
beneficiary's tax computation for 2019-20 and the £4,500 of tax
deducted at source is subtracted when computing tax payable. The
trustees' tax pool is £13,925 (£10,235 + £3,690) plus any balance
brought forward from 2018-19. This exceeds £4,500, so there is no
further assessment on the trustees in relation to this payment.

Miscellaneous income

ITTOIA 2005 charges income tax on certain types of miscellaneous
income to the extent that this income is not already taxed under
another heading. Categories include income from intellectual
property, income from films or sound recordings, income from
telecommunications rights and any other income which is not
otherwise charged to tax.

A loss arising under one of these categories during a tax year is
relieved against the first available miscellaneous income of the same
type in that year or in future years.
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Summary

»

Income tax is payable on the interest actually received by a taxpayer during the tax
year. Most interest is now received gross but any interest received net is grossed up in
the tax computation. Tax deducted at source is then subtracted from the income tax
liability. Income tax is also payable on dividends received.

Individual Savings Accounts (ISAs) provide a tax-free means of either saving cash or
investing in stocks and shares. Junior ISAs are available to children. As from 1 July
2014, ISAs were relaunched as NISAs (New ISAs).

The Enterprise Investment Scheme (EIS) provides tax reliefs to those who subscribe
for the newly-issued ordinary shares of qualifying unlisted UK trading companies.
The Seed Enterprise Investment Scheme (SEIS) provides tax reliefs to investors who
subscribe for newly-issued ordinary shares in start-up companies.

Subject to certain conditions, tax relief is available in relation to an investment in a
Venture Capital Trust (VCT).

Child Trust Fund (CTF) accounts provide a tax-free means of building up a fund of
assets for a young person born between 1 September 2002 and 2 January 2011.

Trustees must account for income tax on the income of a trust. The administration
expenses of the trust are not allowed when computing the trustees' income tax
liability. Special rates of tax apply to the income of a discretionary trust.

Certain forms of miscellaneous income are charged to income tax.

Exercises

A set of multiple choice questions for this chapter is available on the accompanying website.

6.1
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Edward has the following income in 2019-20:

£
Bank interest 4250
Loan stock interest (net) 14,520
Dividends received 53.600

He makes £800 of Gift Aid donations during 2019-20. Compute the amount of income
tax payable for the year.
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Anne's income for 2019-20 is as follows:

£

Bank interest:

Interest on deposit account

480

Interest credited to cash ISA

83

Dividends received

650

Retirement pension

11,886

Compute her income tax liability for the year.
6.3

Outline the income tax advantages of investing in:
(a) the Enterprise Investment Scheme

(b) the Seed Enterprise Investment Scheme
(c) a Venture Capital Trust.

6.4

Outline the main features of Individual Savings Accounts.



6.5

Bernice (who is not a Scottish taxpayer) has the following income in
2019-20:

£

Business profits
102,850

Building society interest
410

Dividends received
7,240

She makes a qualifying EIS investment of £20,000 in May 2019.
Compute her income tax liability for 2019-20, assuming that there are
no Gift Aid donations or pension contributions during the year.

*6.6

An interest in possession trust with two life tenants has the following
income in tax year 2019-20:

£

Rents received
12,620

Bank deposit interest
1,240

Gilts interest received gross



1,800
Dividends received
14,480

Property expenses incurred in the year were £2,220 and general
administration expenses amounted to £1,850.

(a) Compute the trustees' income tax liability for 2019-20.

(b) Assuming that the trust income is divided equally between the two
life tenants, calculate each life tenant's income from the trust in 2019-
20.
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Chapter 7
Income from employment (1)

Introduction

Income from employment is charged to tax in accordance with the rules of the Income Tax
(Earnings and Pensions) Act 2003. The main purpose of the next two chapters of this book
is to introduce these rules and to explain how an individual's income from employment is
calculated for tax purposes.

This chapter begins by distinguishing between employment and self-employment and
then deals with various aspects of the taxation of employment income, including the basis
of assessment, non-taxable employment income and deductible expenses. There is also a
brief description of the Pay As You Eamn (PAYE) system which is used to collect both
income tax and National Insurance contributions from employees. The chapter concludes
by outlining the features of a number of tax-efficient employee incentive schemes. The tax
treatment of benefits in kind is explained in the next chapter.

These two chapters are concerned with employees whose duties are performed wholly
within the UK. The taxation of overseas earnings is considered in Chapter 32.

Employment and self-employment

As will become clear in subsequent chapters, self-employed people enjoy tax advantages
in comparison with employees. Two of the main advantages of being self-employed are:

(a) A much wider range of expenses is allowed against the income of self-employed
people than against the income of employees (see Chapter 9).

(b) Self-employed people (see Chapter 15) generally pay their income tax much later
than employees, who pay income tax under the Pay As You Earn system.

It is usually quite obvious whether someone is employed or self-employed but sometimes
there are borderline cases. For example, it may be extremely difficult to distinguish
between an employee with a number of part-time jobs and a self-employed person with a
number of clients. In such cases, the taxpayer will usually wish to claim self-employed
status, whilst HMRC will often insist that the taxpayer should be treated as an employee.
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